Nidle=r

—All for dreams

FLE <WAVE

WP series

7 & il 12D A IRk B

A High precision reducer

www.nidec-shimpo.co.jp BASEL RS
NIDEC-SHIMPO CORPORATION



A OBIE] 2 NA R OMAL VEETT

"Relentless Refinement of Technology”,

FLEXWAVE

Ly IR —7




HABED RHPBEL T 2503 MO FH iy,
ZOHAM P HENS T LB ES LR,

ARy bOERDIEL., FEHEHBREENOHFIEE>TWET,
BB EBRODERICGRA DN S E TR TELEMEERL.
BEJOVANIMBRE BNV ISV DBERETHSEE L.
[ZLYyIRDT—T o FrYVRADOFEEZEHBWMBDENEIH T
ORY M TEEBOMESESEILBECERELET,

Nidec-Shimpo Corporation is a global leader in various high
precision gear, technologies. Based on increased demand for
higher accuracy\from machine tool and robot manufacturers,
we've utilized our expertise'to develop a new gear reduction
mechanism.

his mechanism, called Flexl':vave, addresses the need for

high torque density in a lightweight, compact package,
combined with zero backlash and high reduction ratios. As a
result, manufacturers,of high performance robots, machine
tools and other automation equipment will see increased
performance and competitiveness in their respective
markets.

WHELDHEHG .
R H 5,

Tractioning Your Future

INDEX

ERARFERK

Parts Configuration
BIEEE
Reduction Mechanism
Bt FRBE L
Parts Name / Reduction Ratio
RIFGERE

Model selection

BHESATA

Standard type A

o b~ b~ W

BB R/ Rk 6
Reducer Model / Specifications
HiEx 7
D\mens\oms Table

FAnETE (HMEET ) 12
Ll{e estimation (Elastic bearing)

FaatHE (E#MT ) 13
Llfe estimation (Main bearing)
ANEBDHABRTTE 15
Maximum load at input shaft
B 16
lubricant information
R 17
Attachment fixture requirement
=EMLY 18
Transmitting Torque
ASIERHEE 21
Input section structure
EREIE 22
Installation and assembly instructions
E—Y B HIE 23
Motor installation procedure
BT —% 24

Characteristics Data

mhILYS47B

High torque type B

PEREL: Zil b WL a3 32
Reducer Model / Specifications
HEs 33
Dimensions Table

FenatHE (T ) 38
Llfe estimation (Elastic bearing)
FFanats (Ez ) 39
Life estimation (Main bearing)
ANEDF R E 41
Maximum load at input shaft
EEH 42
lubricant information
R 43
Attachment fixture requirement
=EMLY 44
Transmitting Torque
ANEEE 47
Input section structure
EREE 48

Installation and assembly instructions

{R¥ES 47D

Flat type D

BUEREERIEC / (AR 49
Reducer Model / Specifications
iR 50
D\mens\oms Table

FAnaTE (M ) 55
LMe estimation (Elastic bearing)

FavatHE (F#F ) 56
Llfe estimation (Main bearing)
ANEDFAFE 57
Maximum load at input shaft
B 58
lubricant information
R 59
Attachment fixture requirement
=EMLY 60
Transmitting Torque
EREIE 62
Installation and assembly instructions
HET—5 63

Characteristics Data



FLEXUWAVE

Lineup

| A
B 4 —7V& Open type ﬁ -,
s

WPU-J-0-SNH WPU-J-[1-SDH
WPU-O-0-SGH &
(A=Y RS AT (2 Hollow unit B O0—X& Closed type

WPU-[]-[1-SNJ WPC-[I-[1-CF WPC-[1-[1-CG
WPU-[1-[1-SGJ WPC-[]-[J-CN WPC-[J-[1-CD
FE=URSA T (Ahs#) Input shaft unit YRRV b4 4 7 Component

WPS-[1-[J-SN WPS-[I]-[1-SD WPU-[I-[0-CF WPU-[1-[]-CD
WPS-[1-[-SG WPU-[-[0-CN WPU-[I-[0-CDH
_Ie unit WPU' [1-[] -CG
3=y g4 T Unit

ol SR RE R JLyHREY (EE - ZHA)
Parts Configuration Flex gear (thin / flexible)

H L (F8F)
Cam(elliptic)

RS (HR - 2R A6E
Elastic bearing(thin / flexible) AVEFLED

Internal gear



Pk A
Reduction Mechanism

RS - T Ly I AF Y EH LIS TBAKIC
ERSEET.

FEARMEBOMEBE CTILY VAT YAV SIS
FYHNSVAREHENET,

AVIFNFFEETEL. H LR HEIC360°
EERSEeE AVIFULFPETLYIZAFTTD
WHEDNEIF. 7Ly I AF VA REET A EIC
EEELEYS

-Flex gear and elastic bearing take elliptic
shape with the cam inserted.

-Flex gear and internal gear are engaged
at both ends of the long axis of the ellipse
in a stable manner.

-With the internal gear fixed, when the cam
(input) is rotated clockwise, the flex gear
(output) rotates counterclockwise. And
its rotational speed is determined by the
tooth count differential between two gears.

o0—XHE

EIREA A

Parts Name

Closed type

TLIIREN

Flex gear

A3 FILFY

Internal gear

EitEZ

Elastic bearing

BAAHL

Elliptic cam

ILwsrzREY

o+ —7
Open type

- LUBFLEY

Internal gear

I T

Flex gear

‘AL

Elliptic cam

T T

IE L

Reduction Ratio

Output

Reduction ratio R

HADRERT A & HAEERTT E A5

*The input and output rotation directions are opposite.

O R (LBEHRFR DIBIEL

R represents the 'Ratio’ figure in the specifications table on the next page.

Output

\ _ 1
RELL = R+1

KANDREERS R & HAEESRA R C

*The input and output rotation directions are same.



FIFETE Model selection

BAZEEDRN

Model selection flow

R ZH NS BT R DHERR
SEH ALY TR -SUTIVEE
RAHAMLY  -REEEZH - TEIVILEE

- E—AVMIE

Operation condition of the reducer

- Maximum output torque - Axial load

- Average rotation speed + Moment load
+ Maximum rotation speed

<€

- Average output torque - Radial load h

EHEHOREL |e—

Re-evaluate the operation contidion

R DB K EREE

Temporary selection of a model

RE %80 32 I an D e RE

Calculate the life span for the elastic bearing

NG

T#ZHFan DR

Calculate the life span for the main bearing

NG

ANEZ T EDHEE

Calculate the load condition at the input bearing

NG

R DR TR TE

Reducer selected

BXDOREL

Re-evaluation of the model



=%
I1TA

e

Standard type A

Standard
type A

Al AIRN
SRR RIZC Reducer Model Nomenclature 97
g8
55 X
ag o
g
JY—Z% 547 PYEs R - kF i : iz
Series name type Size Ratio Code Specifications s
oy
WP Y—X C:avkavboa7 35 50 CN AR ¢
Component type
WP Series S :BHI=—vhs(7 42 80 CF Input shaft oy &
Simple unit type diameter g9 &
U raAZyNIAT 50 100 SN etc. %g E%
== w 63 SNH e B
Unit type 120 g
Input shaft unit -
Hollow unit 80 160 SNJ 5t =
DO A
=} AR
Ju o HO— FEEMRIE AT CRRRCIEE L, g2 &t
.*ﬂ_%i‘% Availability For the code details, please check %_§ &
Ratio matrix the Dimensions Table. 383 3
Sy z22E 50 | 80 | 100 | 120 | 160 i_@
2 35 -
Fl—2 535 BA
50 ss5 B
e HE R
80 =2 K
2 s 2
NN e s W
SR B AT KR Reducer Specifications g
# 2 #3 4 %5 6 7 3 § E
HAEH HARA ERHEFRA AT HERS P =2 g
| EeER N FLs biLs AN B AN Bl RS EE =
-'j-./f A | 'Ratio | Nominal output | Maximum output | Emergency stop Nominal Maximum input L 3% -
Size R torque torque torque input speed speed g
[Nm] [Nm] [Nm] [r/min] [r/min] [hours]
50 7 23 46 r—
85 80 9 27 55 3000 8500 8 12
100 9 32 63 ERS
50 21 44 91 H )71/
80 26 50 102 g
42 100 58 63 129 3000 7300 :;D
120 28 63 129
50 33 73 127 PRg——
80 40 86 149 R A
50 100 47 96 172 3000 6500 ?_r%’@ =
120 47 96 172 So5 s
160 47 96 172 7000 23, =&
50 51 127 242 g &
80 66 142 266 2 3
63 100 70 163 295 3000 5600 Tz %
120 70 163 295 88 |
160 70 163 295 ga 4
50 89 253 447 s R
80 122 316 590 g 5
80 100 142 346 673 3000 4800 =
120 142 346 673
160 142 346 673 Q%’ E
¥ 1 REZAIR—VDORICANTEELZKHTLZEL "1 Reduction ratio is to be calculated by the formula in the previous page, using R value in this table. 8 A
¥ 2 ABEIEREL 2000r/min DRFICEFAR T 2B AfE *2 The maximum allowable value at the input rotation speed of 2000r/min § |
3 3 g - (FLERICHE T 2RAE *3 The maximum torque when starting and stopping. g %
¥4 BRENMEALIHFICHRT 2RAME *4 The maximum torque when it receives shock. o
¥ 5 BB LR T 2 AN BB O &K E *5 The maximum average input speed. 5
X 6 EEHICHFART 2 ANEEHORKE *6 The maximum input speed.
3% 7 AH[EERH 2000r/min, SRR MLO BREOFEGERE 7 The life time at the input rotation speed of 2000 r/min and nominal output torque.
FLEXWAVE WP>U—-X 6




Standard type A
~F3yE3ZR Dimensions Table

SO0—XB AVRARV INIAT
Closed Type, Component
WPC- [ -] -CN
WPC- ] -] -CF

)

LE

LF LM
LH LG
HD cy
X N-¢LU
4}0{ 2-LT -
5V M-¢ST = AN Ly
i ) 2
wob J @1 , W(Js9) \
g N| o % I @(') I N g / — l""\
R =% €| n] S o<y T
s Y %E% s \ N
& \ ’
! )
< E ¢
47 e, BSH (H7)
S
SL
SU 2-M3xk
. = BHEE—XV b
E "j'S’f Al Weight Moment of inertia
= e kg x10"kgm’
**:f’* 35 0.10 0.0383
E‘ 42 0.17 0.0855
INPUT SHAFT FOR 35842 o0 026 0.207
63 0.43 0.544
80 0.91 1.63
[mm]

P4 X 1
Size LA LB LC | N LU

LT LE LF LG LH LM | SG SH SL W

35 | 44 | 38 | 50 |8(6)| 35

M3 | 28,5 | 17.5 6 2 11 15.8 6 18.5 -

42 54 48 60 |16(12)] 3.5 M3 | 325 | 20 65 | 25 | 125 | 158 8 20.7 -
50 62 54 70 |16(12)] 3.5 M3 | 335|215 | 75 3 12 | 248 | 12 | 215 4
63 75 67 85 |16(12)| 4.5 M4 37 24 10 3 13 | 278 | 14 | 216 5
80 100 | 90 110 |16(12)] 5.5 M5 44 28 14 3 16 | 278 | 14 | 236 5

AR T | sU|SA|SB|SD| M |ST| S| HD|CA|CB|CX|CY|cz
35 | - | 25| 17 | 11 |235| 6 | 45 | M3 | 24 |cos5|co3| 17 | 1 | 38
a2 | - | 3 |19 10]2] 6 | 55| M3| 3 |cos|co3| 19| 1 | 45
50 | 138 - | 24 | 16 | 32 | 8 | 55| M3| 3 |cos5|co5|205]| 15 | 53
63 | 163 - | 30| 20 | 40| 8 [ 65| mMa| 3 [cos|cos5| 23 | 15 | 66
80 | 63| - | 40 | 26 | 52 | 8 |88 | M5 | 32 |co5|co5|268]| 15 | 86

¥ 1-CN & -CF THENRRZU EY,
() NIZ-CFfETY,

¥ 2 AAEEMIC DOV TUL, BIEEHERICTRERT I,

# 3 CX. CY. CZ (3T —ZAANEEHERESTE T,

*1 -CN and -CF are different in dimensions. The -CF value is shown in ( ) .
*2 For details in the input section, please check the drawings.
*3 Inner dimensions of CX, CY, CZ are recommended dimensions.



ILTA
Standard
type A
23 ik
8 2 BE
go &
o g% I‘
HO—RE A=y pyAT = -
Closed Type, Unit
. = BHEE—XV b 2
"j'sff7\ Weight Moment of inertia § %
WPU- |:| = |:| -CN 126 kg x10*kgm? g'
[
WPU_ D - D _CF 35 0.50 0.0377 g
42 0.68 0.0856 g
50 0.95 0.207 ——
63 1.5 0.544 50 &
80 3.3 1.63 o5 :%.
LE S =
LF LM =2 }E%
LH LG |LK E
Y N-LU — —
0-ring NoLT g% ?ﬁ
0-ring — >9 i
= —— . g5 &
— : : O i
%:_B h . S5 =
, % / W(so) u
- = b S— é’) = ' j-- \ — - L
HE M - S ey Hj 4 ? ees A
\ = / § % %
“] g 1 e § - %
TOT =
S BSH (H7) gz
s 2-M3xk X sL <8 f¢
R
E CEN: 3
i g
o 5 = |
INPUT SHAFT FOR 35842 [mm] 2 =
)
VAKX LA | LB | LC | LD |N*| LT | LU | LE | LF |LG|LH|LK|LM | DB /| SG ER
35 | 65 | 56 | 73 | 31 |8(®6)| M4 | 45 | 41 | 27 | 7 | 35| 2 14 | 38 | 158 ’
42 | 71 | 63 | 79 | 38 |8(6)| M4 | 45 | 45 | 29 8 4 2 16 | 48 | 15.8 823 g%
50 | 82 | 72 | 93 | 45 |8(®B)| M5 | 55 | 455 28 | 10 | 5 3 | 175 | 56 | 248 228 %%
63 | 96 | 86 | 107 | 58 [10(8)| M5 | 55 | 52 | 36 | 10 | 5 3 16 | 67 | 27.8 230 i
80 125 113 138 78 12 M6 6.5 62 45 12 5 3 17 90 27.8 § 2
S5 E |
. 85 |
YAX sH | SsL|w | T |SU|SA|SB|SC| M |ST|HD|CX|CY]|czZ 22 4
°g H
88 6 18.5 - - 2.5 23 11 8 6 |M4x8 95 1.6 1 38 % %L
42 8 20.7 - - 3 27 10 7 6 |M5x8l 95 1.3 1 45 &
50 | 12 |215| 4 |138| - | 32 | 14 | 10| 8 |M6x9 9 | 15 | 15 | 53 o |
63 14 21.6 5 16.3 - 42 20 15 8 |M8x10] 12 3.4 1.5 66 8 ]7%
= |
80 14 23.6 5 16.3 - 55 26 20 8 [MIOx12] 15 52 1.5 86 5 ¥
¥ 1-CN & -CF THENERRU T, *1 -CN and -CF are different in dimensions. The -CF value is shownin () . %D’
() AL -CFnfETd, *2 For details in the input section, please check the drawings.

W2 ADBEEMIC DWW, BIEHERICTHERET SV, "3 Inner dimensions of CY, CZ are recommended dimensions. —

¥ 3 CY. CZI3y —ANEEHERE~HETT,
FLEXWAVE WP>1—X 8



Standard type A
~F3yE3ZR Dimensions Table

FA—TVE By NI4T
Open type, Simple unit

. = BHEE—XV b
"fs’f Al Weight Moment of inertia
WPS-[1-[]1-SN e kg x10"kgm?
35 0.39 0.0391
42 0.55 0.0870
50 0.79 0.209
63 13 0.549
80 27 1.65
LE
LF LM
SC LJ LH
M-¢ST LG
Yy
N-LT
! N\
m&
W(JS9)
v 1—h
EE = @C)D NEE —_ |
s e n S| & \ \-
& {%]J» #SH (H7)
I_'-_\/ \(bf
su 2-M3xt ¥ s e TR
SN F X
B T o cqua T ter20fauAL ¥
4. \ . ! | [ !
— L /‘ & i e
[h \“‘T‘X \‘w\‘Hr’/‘
E‘ “N-LT" “N-LT"
INPUT SHAFT FOR 35842 ARRANGEMENT FOR 35 ARRANGEMENT FOR 42
[mm]
*JLSTL eZ LA | LC | LE| LF|LG|LH| LW |M|sSG|SH|sL|w]| T |su|sAa|sB
35 | 44 | 50 | 285|235| 6 | 7 |141| 5 |158| 6 |185| - - | 25| 64 | 48
42 | 54 | 60 |325|265|65 | 75| 16 | 6 |158| 8 |207| - - | 3 | 74| 60
50 | 62 | 70 |335| 29 | 75 | 85 | 175| 45 |248 | 12 |215| 4 |138| - | 84 | 70
63 | 77 | 85 | 37 | 34 | 10 | 12 |187| 3 |278| 14 |216| 5 |163| - | 102 | 88
80 | 100 | 110 | 44 | 42 | 14 | 15 |234| 2 |278| 14 |236| 5 |163| - | 132 | 114
sl Alsc|sD| M |[sST|calcy|cz|cv|cw| N LT
35 | 24| 70| 8 | 35]co3| 1 |3 | 16|31 | 8 [M3x5 ¢35x6
42 | 3 | 80 | 12 |35 |C03| 1 | 45 | 2 | 37 | 16 M3x6, ¢ 35%65
50 | 3 | 90 | 12 | 35 |C03| 15| 53 | 2 | 44 | 16 M3x6, $35% 75
63 | 33 | 110 | 12 | 45 |C03| 15 | 66 | 2 | 56 | 16 |M4 x 7, ¢ 4.5 x 10
80 | 36 | 142 | 12 | 55 |C05| 15| 86 | 2 | 72 | 16 |M5x8, ¢ 55 x 14

¥ ADBFMICOWNTUE, BIETERICTHET S,
#2CV, CW, CY, CZ 37 —AANEEHE~ETY,

*1 For details in the input section, please check the drawings.
*2 Inner dimensions of CV, CW, CY, CZ are recommended dimensions.



FA—TVE Ay oA (FZEE)
Open type, Unit (hollow shaft)

WPU- ] -] -SNH

ﬂ—Sé e;C Weigg%n Tﬁlﬁgt of>i(ne/rti|s;
kg x10*kgm?
85 0.57 0.103
42 0.79 0.230
50 1.1 0.460
63 1.7 1.24
80 3.4 3.18

LE

LG

LF

L

H

N-LT

4+
K} f{'ﬂ\x
fs/ 2EQUAL) T 16/20 EQUAL ‘(
T / ; !
o ‘ /J X f
\1%_1 L /{‘
NLT" N-LT"
INPUT SHAFT FOR 35442 ARRANGEVENT FOR35  ARRANGEMENT FOR 42
[mm]
-'j-S\/LeZ LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR
B 44 36 54 70 525 | 205 12 20 7.5 8 9 2.5 55 6.5
42 54 45 64 80 56.5 23 12 21.5 8.5 8.5 10 2.5 5.5 6.5
50 62 50 75 90 515 25 5 21.5 7 9 10.5 - - -
63 77 60 90 110 55.5 26 6 23.5 6 8.5 10.5 - - -
80 100 85 115 142 65.5 32 7 26.5 9.5 12 - - -
YAX| sa | sB | sc | SD| SE|SF| M |ST|su| N LT
89 64 - 14 20 74 36 8 3.5 M3 8 M3 x 5, ¢ 35 x 11.5
42 74 - 19 25 84 45 12 3.5 M3 16 M3 x 6, ¢ 3.5 x 12
50 84 255 21 30 95 - 12 35 M3x6 16 |M3x6, ¢ 3.5x%x 135
63 102 33.5 29 38 115 - 12 45 M3x6 16 |M4x7 ¢ 45x%x 155
80 132 40.5 36 45 147 - 12 55 M3x6 16 |M5x8, ¢ 55x205

FLEXWAVE WP>1—X

UOIBWIOUI JUBDLIGN|

suononJsul Ajlquesse

=%
I1TA

Standard
type A

S

suoneoloadg
/ |opOIA Jeonpay

a|qeL suoisuawig

UoBWNS® 8yl

SR ) MRS

(Buleaq onse|3)

(Bulleaq ulely)
UOIBWINS® 847

/yeys indul
e Peo| WNWIXe

Juswalinbal
2INIXI} JUBLIYOBNY

pue uole|eisu|
anbJo| Bumiwsuel|

ainpaooid
uolje|[elsul 1010} | /ednjonuis uonoes Induj

BlRQ SoNsleloRIBYD

| PR Ra

S

A

(M) SIS | (e

OB >

i

I

I

et




Standard type A

~FyEZFR Dimensions Table

F—TVE A=y NyA T (A1)

Open type, Unit (input shaft)

S

. = BHEE—XV B
"jé’f Al Weight Moment of inertia
WPU- ] -[1-SNJ - kg x10“kgm?
85 0.48 0.0376
42 0.69 0.0897
50 1.0 0.208
63 1.6 0.554
80 3.2 1.74
LE
LG LF LH
L LK LJ
M-gST
TR
/ | N LR
B . SC sV o8 La E
/ U \
i N I | |-
(&< I
QL)P 3 /’ ° E
| 2
NE | =1
- 1=
Lp
- ﬂ 4 -+
QFL =1 R
Tameauay P w0paual ¥
N LAy g
o ‘ ) ‘
= \‘T'X ‘~k}w‘(‘
INPUT SHAFT FOR 35842 ARRANGEMENT FOR 35 ARRANGENENT FOR 42
[mm]
-H-Séez LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR
89 44 36 54 70 50.5 | 20.5 15 15 2.5 8 9 11 - -
42 54 45 64 80 56 23 17 16 3 8.5 10 12 - -
50 62 50 75 90 63.5 25 21 17.5 3 9 10.5 - 16.5 20
63 77 60 90 110 725 26 26 20.5 3 8.5 10.5 - 22.5 25
80 100 85 115 142 84.5 32 26 26.5 5 9.5 12 - 22.5 25
YAX sa | sB | sC | SE| SV |[Sw | M | ST |SU| N LT
83 64 6 - 74 - - 8 3.5 - 8 M3 x 5, ¢ 3.5 x 11.5
42 74 8 - 84 - - 12 3.5 - 16 M3 x 6, ¢ 3.5 x 12
50 84 10 8.2 95 3 3 12 35 M3x6 16 |[M3x6, ¢ 35x%x135
63 102 14 11 115 5 5 12 45 M3x6 16 |[M4x7, ¢ 45x%x155
80 132 14 11 147 5 5 12 55 M3x6 16 |[M5x8,¢55x205

11



=%
I1TA

Standard
type A

A\Y
FEIDETE (SEMEERST) Life estimation (Elastic bearing) T
Sz E
23 =X
¥ = e 2
R A AT E
Life span for the elastic bearing
2
3 &
Mgy —Y T, | ; : =
Operation cycle example afr by ' T, | A
Working torque } T, ! T, g
i i)
3 ; Time ggf
I I o o Bn
n, 52 Bt
ny & g3 ®
., n 3% @
A ElER L 4 8> &
tput rotati 2
Gupgretton 1t |t [t | 4 | g =
Time 25 F
OFHHA bILY - RREA M LY OFEH 55 M
Calculation formula for output torque es %
SEHES LY Ny ZL1’|T1|3‘|' Nye t2’| Tz|3+’°'+ Npe tn'|Tn|3 757
Averagge output torque Tao Nm Tao=2 535 BA
n7’t7+n2°f2"°l’)n’l’n SE»%/’%‘jj
EEE 'J%@
FAHS ~ LY tmo | Nm MO =Th Ta e T, ORKIE £°8 &
Peak output torque value Tmo = Largest among T, T,, --- T, § o 1/?_.}
3 =
BoRH) ML FEBBAHAUT THSD & & CHRET S m—
Please make sure the peak output torque is below the maximum output torque in the specification table LED g ?}
gg *z
QFH AN - B AN EEIHOHEH -
Calculation formula for mput speed g
qzigﬂjjjlﬁliiﬁ g — n7.t7 +n2.t2." nn.tn —_—
Average output rotation speed nao | r/min  nao ttt,t et t 5 fr\
n g JT%
_ - S L
B i (B8RS LMo =y, Ny, ccen, DECKIE & %
: nmo | r/min - 3
Peak output rotation speed nmo = Largest among ny, ny, *** n, 3

A S [EEREL : : P = = S = rati 8553 Al
Average input speed nai | r/min  nai=nao x R (R=3B&EL ) (R = ratio) 223 %%
58 A ESRER . : - o . “SCmis
Peak input speed value nmi | r/min  nmi=nmo x R (R = &L ) (R = ratio) 2dg B
g g
EEANRERIFERSANEEHL T THE L2 CRETIV ° 3
Please make sure the peak input speed value is below the maximum input speed in the specification table cz x|
o O
28 |
QFmrFHINETE T
Calculation formula for life span ) {T—jf
o
=
B S R the | h | Lhe= 7000 x [ 2\ [ 180
Part life span for the elastic bearing Tao nai o 4 I
2 i
ERE N ILY Tar | N | EREROFFAEH b Y & 7
Rating torque Nominal output torque in the specification table % 5',
@)
FERRA S EEEEL - i 5
Rating input rotation speed har r/min | 2000 r/min |

FLEXWAVE WP>1—X 12



13

Standard type A

EaiEtE (ERE) Life estimation(Main bearing)

B EEHTAR(VORO—J8%) Main bearing specification(Cross roller bearing)

©

JODEYyFAE | #71y bE | EABTEHREE | EARTHREE | FET— XV | =XV Ml
- 4 4 | Pitch circle diameter Offset Basic dynamic |Basic static load |  Allowable Moment
: . | of the bearing rollers oad rating rating momen rigidity
f the b Il load rat t t dit
Series Size
Dm L © Co Mal Km
m m N N Nm x10*Nm/rad
35 0.0335 0.0088 5620 6540 36.5 7.35
WPU-01-01-CF 42 0.0410 0.0098 6340 8170 55.8 8.02
o 50 0.0485 0.0098 10400 13300 91.0 13.5
WPU--J-CN
63 0.0620 0.0108 15800 21100 156 27.7
80 0.0815 0.0128 24400 35600 313 66.0
35 0.0505 0.0162 7110 10200 74.0 14.4
42 0.0598 0.0180 10900 15200 124 19.7
WPS-[J-J-SN | 50 0.0708 0.0194 17200 24700 187 401
63 0.0856 0.0234 25100 37400 258 71.5
80 0.114 0.0292 43300 67600 580 188
5 0.0505 0.0217 7110 10200 74.0 14.4
WPU-C1-01-SNH 42 0.0598 0.0235 10900 15200 124 19.7
o 50 0.0708 0.0254 17200 24700 187 40.1
WPU-[J-[J-SNJ
63 0.0856 0.0289 25100 37400 258 71.5
80 0.114 0.0357 43300 67600 580 188
Y =L 3= A=
FEZFMETE |
Life span for the main bearing Fr, |
Fr, !
B/ —Y SUTIVEE ; P
Operation cycle example Radial load ! Fr, gﬁfgﬁ
Fa,
Fa,
TEUILEE Fa,
Axial load Fas FrFE]
! Time
ny i 2 i N3 i
HiH Ed K  \Un
Output rotation : ]
speed Lyl [t Yy ‘ Time
M S ER &
External load L
Lr L L L
I L — b= L - £ g
Fr | 1
@ | w £ £ r £
] (= = L a t
jLF:B : | |




S147A
Standard
type A
22
S & BROE
5o i
Sz
8% =
OFRKBRE—XVPOHEH = =
Calculation formula for the largest working moment
BREBRE—XV b 2 ~f
Poak morki Mm Nm Mm=Frm - (Lr + L) + Fam - La e Ik
eak working moment B 3=
o
BASUTIEE Frm N Frm = Fr;, Fry «++ Fr, ORXIE %
Peak radial load Frm = Largest among Fr,, Fr,, -+ Fr, S
BA7 ¥ v IILAE Fam N Fam=Fa,, Fa, - Fa, DERKIE —
Peak axial load Fam = Largest among Fa,, Fa,, --- Fa, gf ?ﬁ
BABHE— X MEBE—XY MATTHE L AR TEL !
Please make sure the peak working moment is below the maximum allowable moment % S =
e i
QFHIVTINEE - TEY IR E - FHHOREGR - FHERE— XV MO 55 X
S o
Calculation formula for the Average radial load, Axial load, Average output rotation speed, g‘é Hi
Average working moment 52 ¥
&g =
#h
q21’3597)[/ﬁi Fra N /_—ra _7%\/ n1' f,‘lFI’1|70/3+f72- tg'lFf2|70/‘3+“'+ nn' tn'lFrnli% %
dial load -
Average radial loa Nt A0, bt tn t, I
10 10 10 ga3 5%%53{1
32157:\?:/’\7)[/1—’;—73 Faa N I_—aa:ﬂ)/3 nw-l‘w-lf—_awl /3+I72- l‘zolFazl /3+...+ nn'tﬂ'lFanl /3 %g%_ lJ_U)
Axial load Nt 4y bt tn ot g 8 E;r
s g
S5 A ElEREL nao | r/min  nao= Nty 0, teeen, -ty =
Average output rotation speed B4t 4 oeeett >
1 2 n 3z B
- 33 ’Igf__
A:Fi/:jﬁﬁf_x vk Ma Nm  Ma=Fra-(Ur+Ll)+Faa-la 2z &
verage working moment £
3

QRERM -BEM>Y 7 IILREOHEH

Calculation formula for the Loading factor, Equivalent radial load

anbJo| Bumiwsuel|
—
<

Faa <150%&. Xc=1.0, Yo= 045
Fra + 2Ma / Dm —

TIEFRE 85>
Loading factor Xc, Yo . - é 23 %%
aa > 1.504. Xc=067, Yo =067 st 22
Fra + 2Ma / Dm 223 A8
Eﬁ%ﬁlﬁ? VTR Pc N Pc= Xc- (Fra + 2Ma/Dm) + Yc - Faa 2 <
quivalent radial load = L
Tz %
g5 )|
DEFBHZOFMEFHEOFTHE °8 i
Life span for the main bearing 5 5
10 lf
RS SR 10° C \3 -
Life span for the main bearing Lhe h Lhc= 60-nao | fw- Pe Q ’-]’F;
& F
1.0 BEZHDLEVEES no shock 2 5';
Irﬁlfﬁi%or fw - 1.2 ZLOEEZHSHBE  with some shock é
1.5 IRBEREHSHA with shock and vibration .

FLEXWAVE WP>1—X 14



Standard type A
ATERNDEFRFTE Maximum load at input shaft

W&k (F—T VB, 22y 94 7) Bearing specification (Open type, Unit)

L

X7YvT A X7YVIB
Bearing A Bearing B
y—= Y42 EAREEREE EABERTE EARBERTE EARFEEETE a b
Series Size | Basic dynamic load rating | Basic static load rating | Basic dynamic load rating | Basic static load rating
C Co © Co
N N N N mm | mm
35 4000 2470 4000 2470 16 27
42 4300 2950 4300 2950 16 31
WPU-[I-CJ-SNH| 50 4500 3450 4500 3450 145|275
63 4900 4350 4900 4350 155 30.8
80 14100 10900 5350 5250 19 | 37.0
35 2240 910 1080 430 24 | 215
42 2700 1270 1610 710 27 | 235
WPU-[J-CI-SNJ| 50 4350 2260 2240 910 315 | 26
63 5600 2830 2700 1270 375 | 29
80 9400 5000 4350 2260 39 | 385
NF7YVTA NF7YVTA
Bearing A — ] . . Bearing A —~ ] . .
7YV IB R7YvIB
\F 1 Bearing B \i i Bearing B
1 |5
a b a b
W AT E (9 AHEES: 2000r/min, F4E5 : 7000h)
Maximum load (Average input rotation speed : 2000r/min, Life span : 7000h)
WPU-[1-[]-SNH WPU-[J-[1-SNJ
800 35 500 35
\ —1A42 —_—12
450
700 \ e 50 \ e 5,0
400
— 600 —63 _ \ —63
= \ ——80 Z, 330 \ ——80
L \ L \
y@ 400 WE 250 \
*'SE‘U 300 N\ \ @U 200 =00
Rg \ \ l:\ 8 150 \ \
= — i
g 20 \\ \ \ R N\ \\i\ -
IN o IN
100
N\ N >0 NN
0 T T T 1 0 T T 1
0 100 200 300 400 0 100 200 300
T7HFUHILEE Fa [N] TV ILFEE Fa [N]
Axial load Axial load

15




I1TA
Standard
type A
SEYBE lubricant information g8 tu
o.¢ FRiIR
S8
cx
> 2% T
ERTY—2R -
Grease |
) S
237wy ZMP No.2 ((ES5EEFI#R A1) Sumiplex MP No.2 (SUMICO LUBRICANT CO., LTD.) 3 ;é
[FREESHE : 0~40°C (BHEEE) Operating temperature range:0-40°C (ambient temperature) S
J)— R 2E % |
Grease application 2o ﬁ
PUF @Y, BoEEg RIS T —2ZRH L TR IV, Please apply grease according to the table below. 5% "
55
CHE
W7V —RBME Grease application g
-BRIEETCIZOIBEEDOIRY 7 ZB (HORAEmE, EME, THE) CLUBRHEZERELTTSL, =5 7 B
(T)=ZHAFHDIZY ;IATE. CHERET)DT)-ZEATEINTNET,) %% =}
SRR LM E TREDBAFADASSY ~T —2ANEECEHND50% DY U—REFRELTFEL, 2 E
=B LUTU—RARET BB A B EF LA RS, o
-The qgantity of grease applied to C shogld BRATIERT Applied part =
be adjusted depending on the mounting . =523
direction -'j-s/f % C C C 5§35 /Eﬂ%
- ize 35%7
C of the unit type product is already A B ﬁﬁmj‘f) (—tﬁi) (Trﬂ%) D 503 lﬁljjilﬂ
; . ) orizontal | Vertical up | Vertical down 53 D
filled with the same quantity of grease as 523 %
horizontal mounting. 35 0.3 0.3 6 8 o 03 § a %
-For vertical up/down, 50% of the space 42 0.5 0.5 10 12 14 0.5 5 2
between input assy and casing inner wall 50 08 08 16 18 29 08 s %
should be filled with grease. 3% EHy
-If the amount of grease is not sufficient 63 1.5 1.5 30 35 40 1.5 ég F
due to case design, please contact us. 80 3.0 3.0 60 70 80 3.0 %% E
W) —RBMEB Grease application location %
| WPC-[1-J-CF(CN) | | WPU-[]-[1-CF(CN) | | WPS-[1-[J-SN | —T
s &
INNAZ 7777 é )71/
= B B B
C s
I % —r §§§ EA
o o B
S28 =
i S3CHEE
e % é
mosoe . c e |
Fill 50% of the gap in volume y—z ~EBONXERE EERES
28 |
E e 2
oy HX
= 2 &
5 4
)
o g |
| s i
us | g 7
Tl i v
' 5
e N A ?
FLEXWAVE WP>U—-X 16



17

L

Standard type A
EN{~T¥5 R Attachment fixture requirement

B BB E Attachment fixture requirement
| WPC-[J-]-CF(CN)|

I TN
1T
=2

!
m Input
section
# S ADE

HRAEHT

Recommended tolerance — W3

Recommended

Output 2 3 -
-J ¥ L 7
BTHEE [mm]
A 2
Size 85 42 50 63 80
a 0.015 0.015 0.018 0.018 0.023
b 0.010 0.012 0.014 0.016 0.020
c 0.013 0.013 0.015 0.018 0.020
d 0.015 0.015 0.018 0.018 0.023
e 0.015 0.015 0.018 0.018 0.023
f 0.012 0.012 0.014 0.016 0.016
g 0.016 0.020 0.024 0.024 0.024
| WPU-[1-[1-CF(CN) | | WPS-[J-[1-SN |
©f v A
L] 2 A 7-2
Casing
nput (1] 5 A

section

ADE

Recommended

tolerance

Recommended

tolerance

HEEAQEHE

HEAEHT

R
. SRR NARER;
/
1 [/
) |
2 7 |
BfHEE [mm]  EfHEE [mm]
*fsff 21 35 42 50 63 80 TAX | 35 42 50 63 80
ize Size
a | 0020 | 0,020 | 0.020 | 0025 | 0.025 a | 0025 | 0025 | 0025 | 0.030 | 0.030
b | 0012 | 0.012 | 0.014 | 0016 | 0.016 b | 0020 | 0.020 | 0.020 | 0.025 | 0.025
c | 0016 | 0,020 | 0.024 | 0.024 | 0.024 ¢ | 0020 | 0.020 | 0020 | 0.025 | 0.025
d | 0012 | 0.012 | 0014 | 0016 | 0.016
e | 0016 | 0.020 | 0024 | 0.024 | 0.024




{=ZENILY Transmitting Torque

AIL NERST

Bolting

RIS MLIIETROBUTY,
RILMARB (-CF -CNTELD) CfE A ML ICUREFREE MLIDNRIGZUETOTERTEL,
Please refer to the table below for the bolt tightening torque.

Please be noted that the transmittable torque varies depending on the bolt count (different between CF and CN)
and tightening torque.

RIL M

NLY

Tightening torque for bolts

AL YA X

Bolt size

M3

M4

M5

M6

M8

M10 FEERILL @ BRERXS 12.9 U E

fEft hJLs [Nm]

Tightening torque

1.9

4.3

8.7

15

36

71

[TEPMILY (YO—ZB. 2=y 947)

Bolt specifications and Transmitting torque (Closed type, Unit)

HH 75 VEft Output flange attachment

Recommended bolt :

Strength rating above 12.9

T4 X Size 5 42 50 63 80
RIL A X Bolt size M4 M5 M6 M8 M10
RIL b ARER Bolt count 6 6 8 8 8
Bft PCD [mm] |Bolt PCD 23 27 32 42 55
#E4+ L4 [Nm]|Tightening torque 43 8.7 15 36 71
fm&Z bJLs [Nm] [Transmitting torque 56 106 238 566 1177
AV FILFVEST (CN) Internal gear attachment

T4 X Size 88 42 50 63 80
ALY AX Bolt size M4 M4 M5 M5 M6
RIL b AEK Bolt count 8 8 8 10 12
Efst PCD  [mm] |Bolt PCD 65 71 82 96 125
#B4 kL4 [Nm] |Tightening torque 4.3 4.3 8.7 8.7 15
{&ZE bJLY [Nm] |Transmitting torque 210 230 430 629 1392
A V5 FILFEVYEA (CF) Internal gear attachment

T4 X Size 5 42 50 63 80
RIL A X Bolt size M4 M4 M5 M5 -
RIL M AEK Bolt count 6 6 6 8 -
Bft PCD  [mm] |Bolt PCD 65 71 82 96 -
¥+ kLo [Nm] |Tightening torque 4.3 4.3 8.7 8.7 -
{=ZE bJLY [Nm] |Transmitting torque 158 172 322 503 -

A2 R F IRV EfT

Internal gear attachment N

Yh o5y U

Output flange
attachment

FLEXWAVE WP>1—X

=%
I1TA

Standard
type A

suoneoloadg
/ |opOIA Jeonpay

(Buleaq onse|3)

(Bulleaq ulely)
UOIBWINS® 847

/yeys indul
e Peo| WNWIXe

UOIBWIOUI JUBDLIGN|

wawadinbax
ain)x1y Juawiyoeny

pue uole|elsuy|

suononJsul Ajlquesse

ainpaooid
UOIIE|[BISUI JOJO| | /2In1onJis uoposs Induy|

8|ge] suolsuswi(

uolewINsSe oM

MEDM | (deEEER) SRR

~rones
il

onbuo) Bunywsues)

BlRQ SoNsleloRIBYD

S
/ SR

i Bk R
/ B>

S

> T
T

(MY ) I

HE
FHO BN

i

I

RBTE | |

=

O S 7 [




Standard type A
{=ZENJLY Transmitting Torque

(EENILY (YO—ZB aVvERY R 94F)

Bolt specifications and Transmitting torque (Closed type, Component)

T Ly AFVEUT Flex Gear Attachment

b4 X Size 85 42 50 63 80
ALY AX Bolt size M4 M5 M5 M6 M8
RIL b AL Bolt count 6 6 8 8 8

Eft PCD  [mm] |Bolt PCD 17 19 24 30 40
#E b L2 [Nm] [Tightening torque 4.3 8.7 8.7 15 36
{mZE b JLS  [Nm] |Transmitting torque 41 75 126 223 539

A5 FILFVYESA (CN) Internal Gear Attachment

HA X Size 85 42 50 63 80
RIL A X Bolt size M3 M3 M3 M4 M5
RIL b ASK Bolt count 8 16 16 16 16
Bft+ PCD  [mm] |Bolt PCD 44 54 62 75 100
54 bJLs [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7
f=Z LS [Nm] |Transmitting torque 82 200 230 485 1048

A VA FILEVEST (CF) Internal Gear Attachment

P4 X Size 35 42 50 63 80
RIL M A X Bolt size M3 M3 M3 M4 M5
NIV M AEK Bolt count 6 12 12 12 12
Bt PCD [mm] |Bolt PCD 44 54 62 75 100
¥+ kLo [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7
{=ZE bJLY [Nm] |Transmitting torque 61 150 172 364 786

A2 R FILXVEIf

Internal gear attachment

r N

Ly 2 X EIfT

Flex gear attachment

@ LV RMIENN Reinforcement
Ly AF VRN OEZENVIDEREZHm-ITWGEIE EVDOFRZSEWLLET,
EvldgA S oa v CEMAIEETT,

Pins can be added if the transmittable torque at the flex gear interface is not sufficient.
As an option, holes can be added.

Thru hole for pins
=N

Forcing tap

WP-35, 42 WP-50, 63, 80

19



ENLY F—TVR)

Bolt specifications and Transmitting torque (Open type)

T Ly g AFVEUT Flex Gear Attachment

T4 X Size 85 42 50 63 80

ALY AX Bolt size M3 M3 M3 M4 M5

IV b AR Bolt count 8 12 12 12 12

Efst PCD  [mm] |Bolt PCD 64 74 84 102 132
%5 b L2 [Nm] [Tightening torque 1.9 1.9 1.9 4.3 8.7

{mZE b JLY  [Nm] |Transmitting torque 119 206 234 495 1037
AV FILFVEUT Internal Gear Attachment

HA X Size 85 42 50 63 80

RIL A X Bolt size M3 M3 M3 M4 M5

RIL b ASK Bolt count 8 16 16 16 16

Eft PCD  [mm] |Bolt PCD 44 54 62 77 100
54 bJLs [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7

{&ZE bJLY [Nm] |Transmitting torque 82 200 230 498 1048

JL v R XYy Eft

A2 7 F L EfT

Flex gear attachment

JL oy ZARVEAM

I

Flex gear attachment \

Internal gear attachment

A > 2 F )L F v Eft

qp
- \(—r/ Internal gear attachment
-1
]

JL w7 R EYEA
Flex gear attachment \

AV B F LY Ef
" Internal gear attachment

a=——F

= N B

FLEXWAVE WP>1—X

UOIBWIOUI JUBDLIGN|

suononJsul Ajlquesse

=%
I1TA

Standard
type A

suoneoloadg
/ |opOIA Jeonpay

(Bulleaq ulely) (Buleaq onse|3)

uoIlBewWINSe a7

/yeys indul
e Peo| WNWIXe

Juswalinbal
2INIXI} JUBLIYOBNY

pue uole|elsuy|

ainpaooid
UOIIE|[BISUI JOJO| | /2In1onJis uoposs Induy|

8|ge] suolsuswi(

UoIBWNSe 8yl

SR ) MRS

NN~

onbuo) Bunywsues)

BlRQ SoNsleloRIBYD

20

S
/ SR

i Bk R
/ B>

S

A

(M) SIS | (e

R
OB >

i

il

I

et

=

O S 7 [




21

Standard type A
ANTIERREE Input section structure

AFIBRDIEIE

Input section structure

ANEEEZ R T IA V547 (BEROEE) LUV Y RIATH BV ANNEZFICIVRBRUES,
M ERICTHREE TS,

There are two types of input section structure, spline type (self-centering feature) and rigid type.

W74 5947 (BBIERLEE) MUYy RyAT
Spline type (self-centering) Rigid type
O]

DLINEFE~TE

Cam hole diameter

DLRBTEEIEETDIENTRETT . FROZBENRZTEUTOEEE AT IA V54T BERRF
~BARNBEOHHEI Y RIATERVET, TROBENDTENVELRGEE HUOEHLETIL,

The diameter of the cam opening is customizable. Holes smaller than the 'standard hole size' in the table will be
built in the spline type. Holes equal to or larger than the 'standard hole size' and smaller than the 'maximum hole
size' will be built in the rigid type. Please contact us if you need sizes outside the specification in the table.

H v
A
I [ A
N
|
5 Li~F% Cam dimension [mm]
T4 X
Size 35 42 50 63 80
RUENE 6 8 12 14 14

standard bore size

BARINEV
maximum bore size 17 20 23 28 36

®NMNEE H
minimum thickness 6 7 8 9 1




SERERIR Installation and assembly instructions

AS - A XK (wpe-0-0-c0)

Shaft installation instruction

AN & BAE(E IR TSV 7IIEE - VU rIILREERITEOBELLTREL,

(TRIZZEH)

ALICIXBREADODASAMTENMEALET A LB B EICEINRVE I EELTFEL,

Please design the support structure for input shaft and output shaft so that both radial and axial loads are
supported. (Diagram below shows an example)
Inside thrust load has effect on the cam. Secure cam from the possible axial movement.

i

Output shaft

OO

|
—T—

Simmis:
|

JEF_» ) H L

By f+t=Fi% (wee-0-0-c0)
Attachment flange requirement
TLyIRF VP EETIIMA T/ VR 7Ly I RFPEEER DT
O TROTEESFO TR,

For the attachment flange that comes in contact with flex gear, please
build the corner radius according to the table below, in order to prevent

Cam

damage.
[mm]
LS
o 35 42 50 63 80
D 24.5 29 34 42 55
R 1.2 1.2 1.4 1.5 2

VAL

Input shaft

=8

FLEXWAVE WP>1—X

=%
I1TA

Standard
type A

suoneoloadg
/ |opOIA Jeonpay

(Buleaq onse|3)

(Bulleaq ulely)
UOIBWINS® 847

uoljewJojul JueoLgn|
/yeys indul
1B PEO| WNWIXBIN|

Juswalinbal
2INIXI} JUBLIYOBNY

pue uonejeisu|

suononsul Ajquiesse

ainpaooid
UOIIE|[B1SUI JO1O}\ | /2Injonays uonaas induj

8|ge| suoisuswi(

uonewNsSe o)

~z

anbJo| Bumiwsuel|

ele sonsleloeiey)

22

S
/ SR

~
Him

™
FHO BN

i

sy I
| B>

S

”“§>zﬂﬂ'

>
3

P )

(M) SIRZEED A | (g

il

o
<

e
Tt

et

,;\l

= [




Standard type A

E—4BUT A E Motor installation procedure

E—YEfHE WPu-0-0-c0)

Motor installation procedure

M EfFIE 1 Procedure 1
. %—9(275‘/9%’:3&‘)1@(7 -Attach the flange on to the motor
- E—4EhCH L () ZEU T -Attach the cam with elastic bearings to the motor shaft
cA=y MAERYAHT -Attach the unit
1 It B =
B A
Bt =1 || =2l
il /H i —
BEn i " E—%
e —KE g;n% A motor
dzv b
it TS
flange
W EfFIE 2 Procedure 2
CE—AERCH L (B ZERUAT -Attach the cam with elastic bearings to the motor shaft
BTV ERUAIT -Attach the flange on to the motor
cA=y MY AHT -Attach the unit
| 7Y
H lange —
il N = B =3
F . A
0 S I = % B I L %1—*{_:3) I —
| - H\ : £—5
- 1 | | motor
= —N - h s
= = =7 carm

=—
unit

EXfTBFODJER Caution during installation

- BERDOBEAEOERZ, BELRADTHLATRVTTE L,
- AFIASSY (AL £—%) ZEITTHEALBWEIITERLTFSEL,

- Do not use excessive force while mating parts
- Please watch for tilting during input section assembly (motor insertion into cam)

23



BrMEST—4  Characteristics Data

AEGERE

Transmission Angular Accuracy

1.0
AELERELT
ERFM CAN#ZEEZRSELEANOE R/ LD £ 05 ﬁfi{fé*ﬁfﬁy
A SRR DN A E D oE LA
What is Transmission An lar A ; o :%Fé\g 0.0 ‘ '”\”‘HM‘[,.H‘Hlrlum | “ "“‘["‘I‘H“\\V"l‘ NENNANENNE |”“‘|"V
a1e Transmission Angular Accurscy? g - i A
It is the difference between the measured output %’i S
rotation angle and the theoretical angle, while % -0.5 N
input shaft is rotated with no load. o
10, 90 180 270 360
HhEE R A E ()
Output shaft rotation angle (deg)
[arc min]
o P4 X
B Size
Ratio ™35 | 42 | 50 | 63 | 80
50 2.0 2.0 1.5 1.0 1.0
80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0
HROEFSEETT,
Table values are reference values.
EXFJA0X
Hysteresis Loss
E2FULRORENE REh AR
ADEEEE L THEARIC ML ED TGS r
DEAMLIREORINAEDZE ERTULRAAZ
ysteresis LOSS
What is Hysteresis Loss?
When torque load is applied at the output shaft
in alternate direction repeatedly with input shaft 1V > KLY
fixed, there is residual twisting angle when Torque
torque is back to zero. /
In this context, hysteresis loss is the difference
in the forward and backward twisting angle.
[arc min]
. YA X
BOE L Size

Ratio ™55 T 42 | 50 | 63 | 80

50 2.0 2.0 2.0 2.0 2.0

uoljewojul JueoLgn|

suononJsul Ajlquesse

=%
I1TA

Standard
type A

suoneoloadg
/ |opOIA Jeonpay

(Bulleaq ulely) (Buleaq onse|3)

uolewnse ol

/yeys indul
e Peo| WNWIXe

Juswalinbal
2INIXI} JUBLIYOBNY
Sic
puilt

pue uone|elsu|

ainpasoud
uolje|[eIsul 1001 | /2IN10NJIS UoNoes INdu|

S
/ SR

S

8|ge| suoisuswi(

Yoy 21 2

uonewNsSe o)

(M=) SREP SN | (EmR)

E
FHO BN

i

I

e |
<

et

anbJo| Bumiwsuel|
AN\

80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0 2
120 - 1.5 1.0 1.0 1.0 §
%

5

FLEXWRVE WP=>1—X 24



)

Standard type A

BrMEST—4 Characteristics Data

BRRKNNVISYVE

Maximum Backlash [arc sec]
s - . o P4 X
BRIy EEI SEE L Size
N o — o N Rati
ABBHRTSA V54T DHBEDHEHBINSA S TS 42 50 63 80
(DO HEWED/NNIZy v 0 DIz UV Y RFA4 T TlE 50 27 27 18 16 16
What is Maximum Backlash? 100 13 13 9 8 8
In this context, maximum backlash is the output backlash 120 11 7 2 -
for spline type input shaft. (Backlash is zero for rigid type -
input, because gear engagement backlash is zero.)
B (vyo—2B 2=y +947) K1 hLS 70 ~ T, DIERERK
) . Spring coefficient at 0 ~ T, torque
Stiffness (Closed type, Unit) Ko R ILO BT, ~ T, DIF e
Spring coefficient at Ty ~ T, torque
ﬁ]“'ﬁt(i K3 MLOD T, ~ DIFEH
. Spring coefficient at T, ~ torque
ADAIZBETE L TCHARIC ML ED(TRBEDER
EHLRLNA N —
What is Stiffness? K, ;
In this context, stiffness is the output shaft twisting © E
angle and the spring coefficient, while torque load is & g O, e i
applied to the output shaft with input side fixed. ﬁ = '
23 Ki ! i
: | |
0 : H
T sy T2
Load torque
. - e T4 X
BOE F B Size
Ratio item unit 35 49 50 63 80
- T, Nm 2 3.9 7 14 29
- Tz Nm 6.9 12 25 48 108
K, x 10°Nm/rad 0.28 0.69 1.1 2.7 5.6
K, x 10°Nm/rad 0.45 0.85 1.7 3.3 71
50 Ks x 10*Nm/rad 0.55 1.1 25 4.0 8.3
on arcmin 2.3 2.2 2.0 1.8 2.0
0, arcmin 5.7 45 5.3 55 6.5
K, x 10*°Nm/rad 0.45 0.92 1.2 3.3 6.9
30 Ko x 10*°Nm/rad 0.63 1.1 1.8 3.7 8.1
100 Ks x 10*°Nm/rad 0.70 1.3 2.2 45 10
120 6, arcmin 1.8 1.3 1.8 1.6 1.7
6, arcmin 4.7 35 4.8 4.4 49
KROMBEIEFHETT,

Average value shown in the table

25



I1TA
Standard
type A
L3 L
8 2 #R=E
58
Sz
8% =
EENNILY [cNm] g I
(YyO0—RE 1=y h547) S paie |
Starting Torque Ratio 35 10 50 63 80 g+
(Closed type, Unit) s K
50 7 | 39 | 55 | 87 19 3 x
80 1.9 | 42 | 60 | 95 21 @
Eibl\)[tat(; \ 100 1.6 3.5 5.0 7.9 18 f%)
AR SEE S EDHEC AN EERZE 120 - 28 | 40 | 63 14
L L
RDDPILY 1 EAREIC L UERRR Y ETOT, BEETT, - =
(A% AEER: 25%C) # 2 APA A Ny — AR RT Y Y S EQEERES Bo @
What is Starting Torque? i L& BPBEEINTLIEA, . %g E%I
Input torque needed for input side to start ! Egrﬂgi;enndfﬁoﬁhly' Torgue value may vary depending §§ g’;?
rotating (no load, ambient temperature : 25°C) *2 Charts does not show effects due to rotation - %
resistance of bearings and oil seals on the input side. =
. [Nm] 22 % |
R E LY YA 3 B
(YO—RHE 2=y () AL Size e
| =5 .
Output Starting Torque 35 42 50 63 80 €5 3
(Closed type, Unit) 50 1.3 2.6 4.5 5.7 12 ]
80 1.9 4.0 6.8 8.6 19 |
WEEE LY &I 100 | 21 | 44 | 75 | 95 | 21 SS=EA
~ _ N _ _ SSZEN
HIABN SEERS B3 HBA (1, DR A EEE 120 >8 | 90 | 11 | 25 522 5%
LAHZ LY A ERRHIC L VENREYETOT, BEETT, 1% 2
mEs . FERE:25° K2 ADAANY —WRIR—IUART ) > T EQEERE ER -
(R BMERE:25C) CEBHBIEEFNTLE A, : 8
What is Output Starting Torque? *1 For reference only. Torque value may vary depending =
Output torque needed for output side to start .on the condition. . FER
rotating (no load, ambient temperature : 25°C) 2 Charts does not show effects due to rotation 8 ff
resistance of bearings and oil seals on the input side. ©3 7
83 &
= cNm ?
B — [cNm] :
- — S o 7y
7Y =Y T MEL | e Sizd I
> o :{ —
(YO—ZB, 1=y A7) o 35 | 42 | 50 | 63 | 80 s 2
No-load Running Torque 500r/m|n 3.1 5.1 11.2 13.7 26.1 % )IL
(Closed type, Unit) - 1000r/min | 3.4 54 | 12.4 | 156.2 | 28.6 S
— . pe 2000r/min 3.6 5.9 13.6 16.9 31.3 %
%Eﬁ7/_/7 h)bat‘i 3500r/min 3.9 6.3 14.9 18.8 34.2 |
BEMCHBEITIDNICLEN 500r/min | 4.3 | 7.7 | 84 | 156 | 28.6 B33 EA
AHBDRILY gg |1000¢/min | 46 | 83 | 92 | 17.3 | 31.2 - %2%
(FHfE. BEER25°C) 2000r/min | 5.0 | 89 | 10.1 | 19.2 | 34.2 SocEl
What is No-load Running Torque? 3500r/min | 54 | 96 | 111 | 21.4 | 37.4 ciz 2
Input torque needed to keep it 500r/min 29 7 4 95 14 2 205 s £
running with no load (average - — -
value, ambient temperature : 25°C) 100 o 8.1 8.0 10.5 16.7 24.6 g% qlﬁ
2000r/min | 3.3 86 | 115 | 175 | 26.9 i3y
3500r/min | 3.6 9.2 126 | 19.4 | 29.4 5 {E}Jg
500r/min - 6.1 | 92 | 124 | 263 5 5
1po | 1000r/min | - 6.5 | 10.1 | 13.8 | 28.8 &
2000r/min - 7.0 11.1 15.3 31.5
3500r/min - 7.5 12.2 17.0 34.5

A FERAFFICLVENEGY EFT0T, 2EETT,

M2 ATMAA AN —ILPR—IUART ) v TEOREKTIC &L 2HEEE
INTWFELEA,

*1 For reference only. Torque value may vary depending on the condition.

*2 Charts does not show effects due to rotation resistance of bearings

and oil seals on the input side.
FLEXWAVE WP>U—-X 26

eleq sonsualoeIRy)




27

Standard type A
BrMEST—4 Characteristics Data

TR (YO0—RB 1=y h9(7)
Efficiency (Closed type, Unit)

B (%] BRENLY | EFEREKNLY -Percentile Load (%) is equal to load torque divided by
. . o allowable average torque.
FHERE : 25°C -Ambient temperature : 25°C

. .= |l = *1 These diagrams represent the average value of the
% |5 — 7t (E ¢ R
1 TST7EEUNT—IDFHETT actual measurement.

H2 ADRAANY =R —IAT ) T S DER *2 Charts does not show effects due to rotation

EHMICELZEEFTESINTWEEA, resistance of bearings and oil seals on the input side.
WPU-35-50 WPU-35-80
100 100
e 500 r/min 500 r/min
90 | = 1000 r/min 90 | e 1000 r/min
s 2000 r/min e 2000 r/min
. 80 [ e 3500 r/min - 80 [ e 3500 r/min
2 2
o 70 © 70
L 60 o 60 /
§ 50 § 50 /
# 40 40 ////
30 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
& [%] Percentile Load & [%] Percentile Load
WPU-35-100
100
@ 500 r/min
90 [ e 1000 r/min
e 2000 r/min
. 80 [ e 3500 r/min
e
o 70
o
= /
40 ////
30
20
10
0 20 40 60 80 100

&7 (%] Percentile Load



I1TA
Standard
type A
¢
£ BRE
ge B
sz H
a2 T
7 = M — ° e ~
FPER (YO0—RB 1=y + 54 T) ~
Efficiency (Closed type, Unit) L
€ <
3
3 7
B (%] BRENLY | EFREKNLY -Percentile Load (%) is equal to load torque divided by 2z x
allowable average torque. 2
N=| . o ; =
Jﬁ@/ﬂﬂ}%—: - 25%C -Ambient temperature : 25°C %
. .= = *1 These diagrams represent the average value of the
1Y STEEMT—IDFHETT, A d
A A g AT _ . . —
H2 ADRAANY =R —IAT ) T S DER *2 Charts does not show effects due to rotation gm)% ﬁ
EHICELDHEEEINTWEEA. resistance of bearings and oil seals on the input side. 28 ¥
23 ®
g9 P~
& H
L]
=
> 8 E%ﬂ_
O = =
T
@8 =
- ==
i@
=
WPU-42-50 WPU-42-80 e
g‘% o /Fﬁ]\
5=% BN
100 100 222 i #
e 500 1/min @ 500 r/min S g}F
90 [ e 1000 r/min 90 [ cmmm 1000 r/min S 8 &L
e 2000 r/min e 2000 r/min 2 = T
80 [ == 3500 r/min . 80 [ === 3500 r/min g %
: : =
§ 70 § 70 éfé Y
= 50 £ 50 EN
40 # 40 / -
R R / ®
30 30 |
/4 § &
20 20 -
- I\
10 10 S L
0 20 40 60 80 100 0 20 40 60 80 100 C g
o
&% [%] Percentile Load &7 [%] Percentile Load S
(0]
B
[SES—
SEsR7
WPU-42-100 WPU-42-120 st 22
=1 o R
100 100 §§£ =
e 500 r/min 500 r/min 5 é
90 [ e 1000 r/min 90 7| e 1000 /min a g
e 2000 r/min s 2000 r/min = —
> 80 [7| === 3500 r/min > 80 [ === 3500 r/min §§ 415
5 70 g 70 / 52 %
E ke —— S8 ®
0 60 T 60 //// = ff
40 / M 40
30 30 g
(]
20 20 @
[7]
»
10 10 9
0 20 40 60 80 100 0 20 40 60 80 100 5
A7 [%] Percentile Load & [%] Percentile Load

FLEXWAVE WP>1U—-X 28



29

L

Standard type A
BrMEST—4 Characteristics Data

TR (YO0—RB 1=y h9(7)
Efficiency (Closed type, Unit)

B (%] BRENLY | EFEREKNLY -Percentile Load (%) is equal to load torque divided by
. . o allowable average torque.
FHERE : 25°C -Ambient temperature : 25°C

. = gl = *1 These diagrams represent the average value of the
% |5 — SZ 5 (E ¢ o
1 ST EEMT—YDFHETT actual measurement.

H2 ADRA AN =R —IAT ) T S DER *2 Charts does not show effects due to rotation

EHMICELZEEFTESINTWEEA, resistance of bearings and oil seals on the input side.
WPU-50-50 WPU-50-80
100 100
e 500 r/min 500 r/min
90 | = 1000 r/min 90 | e 1000 r/min
s 2000 r/min e 2000 r/min
. 80 [ e 3500 r/min - 80 [ e 3500 r/min
o 70 o 70
o ///’-— E
= 50 = 50
# 40 / # 40 /
i /4 i
30 / 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
&7 [%] Percentile Load &% [%)] Percentile Load
WPU-50-100 WPU-50-120
100 100
e 500 r/min e 500 r/min
90 [ e 1000 r/min 90 [ e 1000 r/min
e 2000 r/min e 2000 r/min
- 80 [ e 3500 r/min - 80 | === 3500 r/min
2 o — 2
o 70 @ 70
2 P — 2 _—
# 40 //// ® 40 ////
30 / 30
20 4 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
&% [%] Percentile Load &1 [%] Percentile Load



I1TA
Standard
type A
¢
£ BRE
ge B
sz H
a2 T
7 = M — ° e ~
FPER (YO0—RB 1=y + 54 T) ~
Efficiency (Closed type, Unit) L
€ <
3
3 7
B (%] BRENLY | EFREKNLY -Percentile Load (%) is equal to load torque divided by 2z x
allowable average torque. 2
N=| . o ; =
Jﬁ@/ﬂﬂ}%—: - 25%C -Ambient temperature : 25°C %
. o= NN *1 These diagrams represent the average value of the
M1 ST FEANT— I DFHIETT, A d
X A g AT _ . . —
H2 ADRAANY =R —IAT ) TS DR *2 Charts does not show effects due to rotation gm)% ﬁ
EHICELDHEEEINTWEEA. resistance of bearings and oil seals on the input side. 28 ¥
25 M
g9 P~
CRE
L]
=
> 8 El%j—
O = =
T
@8 =
- ==
i@
=
WPU-63-50 WPU-63-80 sz @Al
TT D /r%]\
5=% BN
100 100 222 i #
e 500 1/min @ 500 r/min S g}F
90 [ e 1000 r/min 90 [ cmmm 1000 r/min S 8 &L
e 2000 r/min e 2000 r/min 2 = T
80 [ == 3500 r/min . 80 [ e 3500 r/min S %
: : =
§ 70 § 70 éfé Y
= 50 £ 50 EN
40 # 40 -
ﬁ / @ / ’
30 30 > |
5 &
20 20 -
- I\
10 10 S L
0 20 40 60 80 100 0 20 40 60 80 100 C g
o
&% [%] Percentile Load &% [%] Percentile Load g
(0]
B
[SES—
SEsR7
WPU-63-100 WPU-63-120 st 22
=1 o R
100 100 §§£ =
e 500 r/min 500 r/min g é
90 [ e 1000 r/min 90 7| e 1000 /min a g
e 2000 r/min s 2000 r/min = —
> 80 || e 3500 r/min , > 80 [ e 3500 r/min / §§ 415
] -
3 70 T 70 // s E?
= = // sg B
i 60 / i 60 / %T {%L
S 50 = 50 %
40 M 40 /
30 30 / 3
g
20 20 @
[7]
»
10 10 9
0 20 40 60 80 100 0 20 40 60 80 100 5
A7 [%] Percentile Load & [%] Percentile Load

FLEXWAVE WP>1U—-X 30



31

L

Standard type A
BrMEST—4 Characteristics Data

TR (YO0—RB 1=y h9(7)
Efficiency (Closed type, Unit)

BE[%] - BRMLY | FEREKRNLY

BAEEE : 25°C

1 U573 T—9DFHETT,

M2 AFEIA ALY —IILXPR—=ILRT Y v T E D EER
BHICEIDHEIEINTVIEEA,

WPU-80-50
100
e 500 r/min
90 | e 1000 r/min
e 2000 r/min
_ 80 | == 3500 r/mi%
e
© 70
L 60 /
= 50
% 40 /4
M
30
20
10
0 20 40 60 80 100
&7 [%] Percentile Load
WPU-80-100
100
e 500 r/min
90 | cmmm= 1000 r/min
e 2000 r/min
_ 80 [ === 3500 r/min
2
o 70
O
L 60
= 50
# 40
R
30
20
10

0 20 40 60 80 100
&7 [%] Percentile Load

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent the average value of the

actual measurement.
*2 Charts does not show effects due to rotation resistance of

bearings and oil seals on the input side.

WPU-80-80
100
500 r/min
90 [ e 1000 r/min
s 2000 r/min
- 80 s 3500 r/min
2
© 70
o
o 60
= 50
40
R
30
20
10
0 20 40 60 80 100
& [%] Percentile Load
WPU-80-120
100
500 r/min
90 e 1000 r/min
s 2000 r/min
. 80 f{ === 3500 r/min
2
o 70
©
L 60
= 50
# 40
EX
30 4
20
10
0 20 40 60 80 100

& [%] Percentile Load



High torque type B [griwo5 1 7B]

SRR RIZC Reducer Model Nomenclature

WP

C

35

50

CG|—|* *

V)—2% 547 HA X B LE a—R* i
Series name type Size Ratio Code Specifications
WP Y—X C:IvRrY o417 35 50 CG ANEEE
Component type
WP Series S :@HI=vts(7 42 Input shaft
Simple unit type 80 SG d?ameter,
U:1=vho47 50 etc.
A=y AT (ATEHh)
2= R547 (Rzes) 63 100 SGH
Unit type
Input shaft unit
Hollow unit 80 120 SGJ
. - MO— REEMS~HERE CHERBIZE L,
.ﬁ%i‘% Availability For the code details, please check
Ratio mz%t[lx the Dimensions Table.
Sy z2=E 50 | 80 | 100 | 120
g 35
o 42
L
50
63
80
N D N Iy .
SR B KR Reducer Specifications
2 %3 % 4 %5 %6 %7
R ER FFRRK IEERFR AR AT HREE P N
| s NILs NILY MLy AD B AN EEE SRR
"j',’f A | Ratio | Nominal output | Maximum output | Emergency stop Nominal Maximum input Lt
Size R*' torque torque torque input speed speed
[Nm] [Nm] [Nm] [r/min] [r/min] [hours]
50 7 23 46
36 80 10 30 61 3000 8500
100 10 36 70
50 21 44 91
80 29 56 113
42 100 31 20 143 3000 7300
120 31 70 112
50 33 73 127
80 44 96 165
50 100 52 107 191 3000 6500 10000
120 52 113 191
50 51 127 242
80 82 178 332
63 100 87 204 369 8000 5600
120 87 217 395
50 99 281 497
80 163 395 738
80 100 178 433 841 3000 4800
120 178 459 892

A RMEZIN—YORICANTRELERH T2 W
3¢ 2 ANEEREL 2000r/min OEFICHA T 2ERAME

¥ 3EEH) - (FULRICHA T DHKME

A FEENMERA LIRICHA T 2RAE

¥ 5 BEAICHAT 2P ANEGERORAE

¥ 6 BEHICHFA T AN EEHORAKIE

7 ANEERE 2000r/min, FAER bV Y ARROFF G

*1 Reduction ratio is to be calculated by the formula in the previous page, using R value in this table.
*2 The maximum allowable value at the input rotation speed of 2000r/min

*3 The maximum torque when starting and stopping.

*4 The maximum torque when it receives shock.

*5 The maximum average input speed.

*6 The maximum input speed.

*7 The life time at the input rotation speed of 2000 r/min and nominal output torque.

FLEXWAVE WP>1U—-X

=N
91478

High torque
type B

suoneaoads
/ I3POI\ 199npay

(Bulleaq urely) (Buleaq onse|3)

uonewNsSe o)

Jeys 1nduy
1B PEO| WNWIXe

Juswalinbal
2INIXI1} JUBLIYOBNY

suononsul Alquiesse

9|ge| suoisuswi(

uonewNsSe aj

(W) SR Eb A | Cmm) ZRSHAM

uolew.oUl JuBDLIgN|

enbio] Bumiwsuel|

2IN}oNJ1S U0N10aes Indu|

pue uone|esy|

32

TwrF
| PHHEE b R

S S

PO >

3
7

[T

e
I 3 i

N ST




High torque type B [grio5+ 78]

~FyEZFR Dimensions Table

SO0—XB AVRARV INIAT
Closed Type, Component

WPC-[1-01-CG

LE

LF LM
LH LG
HD cy
X N-¢LU
4?{ 2-LT -
5V M-¢ST = AN Ly
i ) 2
wob J @1 , W(Js9) \
2 N| © % I G(? TN 2 / ,“\
_ _ o _ - vl n - (A w| v o Lo U
= R 1 MR . é\_\’”} /
& \ ’
! )
< E ¢
47 e, BSH (H7)
S
st
SU 2-M3xk
. = BHEE—XV b
E "j's’f Al Weight Moment of inertia
= e kg x10"kgm’
**:f’* 35 0.10 0.0383
E‘ 42 0.17 0.0855
INPUT SHAFT FOR 35842 o0 026 0.207
63 0.43 0.544
80 0.91 1.63
[mm]

*fsfzex IA | B|Llc| N |wW/|wo|LE|LF || tH|IM|SG|SH]| S | w

35 44 38 50 8 3.5 M3 | 28,5 | 17.5 6 2 11 15.8 6 18.5 -

42 54 48 60 16 35 | M3 | 325 | 20 65 | 25 | 125 | 158 8 20.7 -

50 62 54 70 16 35 | M3 | 335|215 | 7.5 3 12 |1 248 | 12 | 215

63 75 67 85 16 4.5 M4 37 24 10 3 13 | 278 | 14 | 216

gl o

80 100 | 90 110 16 5.5 M5 44 28 14 3 16 | 278 | 14 | 236

AR T | sU|SA|SB|SD| M |ST| S| HD|CA|CB|CX|CY|cz
35 | - | 25| 17 | 11 |235| 6 | 45 | M3 | 24 |cos5|co3| 17 | 1 | 38
a2 | - | 3 |19 10]2] 6 | 55| M3| 3 |cos|co3| 19| 1 | 45
50 | 138 - | 24 | 16 | 32 | 8 | 55| M3| 3 |cos5|co5|205]| 15 | 53
63 | 163 - | 30| 20 | 40| 8 [ 65| mMa| 3 [cos|cos5| 23 | 15 | 66
80 | 63| - | 40 | 26 | 52 | 8 |88 | M5 | 32 |co5|co5|268]| 15 | 86

¥ 1 ADEREEMIC OV TE, BIRHERIC TR T SV, *1 For details in the input section, please check the drawings.
¥ 2CX, CY, CZ (37 —RANEEHE~TETT . *2 Inner dimensions of CX, CY, CZ are recommended dimensions.

33



1=1001%2

91478
High torque
type B
g LB
R 3
go b
5z &
> — o £% I\
JO—XE A=y Y47 -
Closed Type, Unit
. = EBHEE—X b g I
"j'sff7\ Weight Moment of inertia «3 %i
WPU- |:| - |:| -CG 126 kg x10*kgm? é'
85 0.50 0.0377 oy
42 0.68 0.0856 °
50 0.95 0.207 — % |
63 15 0.544 50 &
o2 &f
80 3.3 1.63 55 a
LE 2s 4
LF LM = £
#h
LH LG |LK 2
al 0-ring N-LU NoLT g%%i
0-ring — >g U
i — U= N g3 &l
] = : & £ H
%:_B h . °s =
, % / W(Js9) ]
= = — \ = j-- I 1
=EEE ol glel do B S 35 A
Oé s § < el & § s \ e J 7/ 5% vl
- — \ pifg [ §§ %
\ g &
— / 5 B
bl i ] i
——— -
HD O c o |
Lt S 8
SuU 2-M3xk X SL bl 5 A
E 2 Al
i 5
—o @ 2
o 3z ®m |
INPUT SHAFT FOR 35&42 [mm] 8 ff
=R
HAZ iz E
Size LA LB LC LD N LT LU LE LF LG LH LK LM | DB | SG z
85 65 56 73 31 8 M4 4.5 41 27 7 3.5 2 14 38 15.8
42 71 63 79 38 8 M4 4.5 45 29 8 4 2 16 48 15.8 g g
o E
50 82 72 93 45 8 M5 | 55 | 455 | 28 10 5 3 175 | 56 | 24.8 2 )]L
63 96 86 107 | 58 10 M5 | 55 52 36 10 5 3 16 67 | 27.8 g Z
80 | 125 | 113 | 138 | 78 12 M6 | 6.5 62 45 12 5 3 17 90 | 27.8 &
7
YAX sH | SsL|w | T |SU|SA|SB|SC| M |ST|HD|CX|CY]|czZ g %
c B
35 6 18.5 - - 2.5 23 11 8 6 [M4x8| 95 1.6 1 38 e B
42 8 20.7 - - 3 27 10 7 6 [M5x8| 95 1.3 1 45 %
50 12 | 215 4 13.8 - 32 14 10 8 [M6x9] 9 1.5 15 53 83 E B
63 14 21.6 5 16.3 - 42 20 15 8 M8x 10 12 3.4 1.5 66 ?l;:) %
=S 1§
80 14 | 23.6 5 16.3 - 55 26 20 8 [MI0x12] 15 52 | 15 86 iéﬂ a
¥ AREEMCOVTUL, BIRTERICTRER TSV, *1 For details in the input section, please check the drawings. %

%2 CY. CZ I3 —2ANEEHESRE~HETY, *2 Inner dimensions of CY, CZ are recommended dimensions.

FLEXWAVE WP>1—X 34



High torque type B [grio5+ 78]

~HyE3R Dimensions Table

FA—TVE By NI4T
Open type, Simple unit

R = BHEE—XV b
"fs’f Al Weight Moment of inertia
WPS-[1-11-SG - kg x10kgm?
35 0.39 0.0391
42 0.55 0.0870
50 0.79 0.209
63 13 0.549
80 07 1.65
LE
LF LM
SC LJ LH
M-6ST LG
Yy
N-LT
o~
>
WiS9)
CV h S— ™
== N 3| = } \
£l ZEl = VaARIEES H{
28| M=l [ S
P — \L..
& {gﬂi #SH (H7)
RIRY \@f
sU 2-M3xk < sL A -/"‘H‘\;
'Xi‘\. ' ‘ x
= T s caua P oter20faual ¥
4. \ . ! | [ !
— @ oA )
1 & \‘ / ‘
— \T'X ‘1\},4—’(‘
B “N-LT" “N-LT"
INPUT SHAFT FOR 35842 ARRANGEMENT FOR 35 ARRANGEMENT FOR 42
[mm]
*7“&42 e7\ IA | LC | LE|LF|LG|LH| W |M|scg|SH|sL|w]| T |su|sa|sB
35 | 44 | 50 |285|235| 6 | 7 |141| 5 |158| 6 |185| - - | 25| 64 | 48
42 | 54 | 60 |325|265| 65| 75| 16 | 6 |158| 8 |207| - - 3 | 74 | 0
50 | 62 | 70 |335| 29 | 75 | 85 |175| 45 |248 | 12 |215| 4 |138| - | 84 | 70
63 | 77 | 85 | 37 | 34 | 10 | 12 |187| 3 |278| 14 |216| 5 |163| - | 102 | 88
80 | 100 | 110 | 44 | 42 | 14 | 15 |234| 2 |278| 14 |236| 5 |163| - | 132 | 114
AR sc|sD| M | ST |CA|CY|CZ|CVv |CW| N LT
35 | 24| 70| 8 | 35/C03| 1 | 38 |16 | 31 | 8 |M3x5, ¢35x6
42 | 3 | 80 | 12 | 35 |C03| 1 | 45| 2 | 37 | 16 M3 %6, ¢35x865
50 | 3 | 90 | 12 | 35 |C03| 15| 53 | 2 | 44 | 16 M3x6, $35x75
63 | 33 | 110 | 12 | 45 |C03| 15| 66 | 2 | 56 | 16 M4 x7, ¢ 45 x 10
80 | 36 | 142 | 12 | 55 |C0o5| 15| 8 | 2 | 72 | 16 |M5x8, ¢ 5.5 x 14

¥ ANEFMIC DL TR,

35

BERTERIC THERRT S UL,
#2CV. CW, CY, CZ 37 —AANEEHEEE~HETT,

*1 For details in the input section, please check the drawings.
*2 Inner dimensions of CV, CW, CY, CZ are recommended dimensions.



FA—TVE Ay oA (FZEE)
Open type, Unit (hollow shaft)

. = EBEE—X Vb
ﬂ—S/f Al Weight Moment of inertia
WPU- ] -[1-SGH “© kg x10"kgm?
85) 0.57 0.103
42 0.79 0.230
50 1.1 0.460
63 1.7 1.24
80 3.4 3.18
LE
LG LF LH
L LK L
t=-
La
35U
4+
1‘\. /’-/’ ‘"’\n)
fwzmML\ ol wnmeﬁ
L / ; !
o ‘ /‘ & *
\1#_1 L /{‘
INPUT SHAFT FOR 35442 ARRANGEMINT FOR 35 ARRANGENENT FOR 42
[mm]
"j‘STEeZ LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR
85 44 36 54 70 525 | 205 12 20 7.5 8 9 2.5 55 6.5
42 54 45 64 80 56.5 23 12 21.5 8.5 8.5 10 2.5 5.5 6.5
50 62 50 75 90 515 25 5 21.5 7 9 10.5 - - -
63 77 60 90 110 55.5 26 6 23.5 6 8.5 10.5 - - -
80 100 85 115 142 65.5 32 7 26.5 9.5 12 - - -
YAX| sa | sB | sc | SD| SE|SF| M |ST|su| N LT
89 64 - 14 20 74 36 8 3.5 M3 8 M3 x 5, ¢ 35 x 11.5
42 74 - 19 25 84 45 12 3.5 M3 16 M3 x 6, ¢ 3.5 x 12
50 84 255 21 30 95 - 12 35 M3x6 16 |M3x6, ¢ 3.5x%x 135
63 102 33.5 29 38 115 - 12 45 M3x6 16 |M4x7 ¢ 45x%x 155
80 132 40.5 36 45 147 - 12 55 M3x6 16 |M5x8, ¢ 55x205

FLEXWAVE WP>1—X

BV
9147B

High torque
type B

e
Xl

| BHHE

suoneoloads
/ [opO J8onpay
i

S ¥

a|ge] suoisuawiq

(Buleaq onse|3)
uonewnse o)

(Bulleaq urely)
UOIBWINS® 8]
I

1eys indu
18 PeO| WNWIXe\
MBS Ot > ‘ (Xt ) NI

——.
I i

uolewLIoul uBDgn|

Juswalinbal
2INIXI} JUBLIYOBNY
Wﬁﬁ%‘

QF?MW‘

anbJo| Bunwisuel|

ﬁﬁ¥&>‘

2IN}oNJ1S U0N10aes Indu|

S5 A

suonon.sul Alquiesse
pue uone|jeisuy|

36



37

i

High torque type B [grio5+ 78]

~F3yE3ZR Dimensions Table

F—TVE A=y NyA T (A1)

Open type, Unit (input shaft)

WPU- [1-[]1-SGJ

"jég e7: Weijt ’]ﬁl%n;&nt of)i(ne/rtig
kg x10*kgm?
B 0.48 0.0376
42 0.69 0.0897
50 1.0 0.208
63 1.6 0.554
80 3.2 1.74

LE

LG LF LH

LJ

LL LK

M-gST
/Q/ ! ‘\ﬁ\\
\53(’ | N LR
SC sV gog La
|/I = N =| @ ( = =
o——{@H—} =T
>~ = ] S| & A3 <
> o / (
| 2
NE | e ’
. b B
Lp
Q;L HE} ,—4‘\‘\ l{.TN*
fe/wzgoum'\ P w0paual ¥
Sl 05 Vo / : ! 5
.\ X/‘ ‘ IJ
= T \‘~o4Hr
INPUT SHAFT FOR 35842 ARRANGEMENT FOR 35 ARRANGENENT FOR 42
[mm]
-'j-STLeZ LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR
8S) 44 36 54 70 50.5 | 20.5 15 15 2.5 8 9 11 - -
42 54 45 64 80 56 23 17 16 3 8.5 10 12 - -
50 62 50 75 90 63.5 25 21 17.5 3 9 10.5 - 16.5 20
63 77 60 90 110 725 26 26 20.5 3 8.5 10.5 - 22.5 25
80 100 85 115 142 84.5 32 26 26.5 5 9.5 12 - 22.5 25
YAX sa | sB | sC | SE| SV |[Sw | M | ST |SU| N LT
35 | 64 | 6 - e |- - 8 | 35 | - 8 |M3x5 ¢35x115
42 | 74 | 8 - | 84 | - - | 12 35| - | 16 | M3x6, ¢35x12
50 84 10 8.2 95 3 3 12 35 M3x6 16 |[M3x6, ¢ 35x%x135
63 102 14 11 115 5 5 12 45 M3x6 16 |[M4x7, ¢ 45x%x155
80 | 132 | 14 | 11 | 147 | 5 | 5 | 12 | 55 |M3x6 16 |M5x8 ¢55x205




Eanet = (REIMEERSE) Life estimation (Elastic bearing)

HEEZFamaTE

Life span for the elastic bearing

N Egm Y-V

Operation cycle example

T, | i
&by | T, |
Working torque } T, ! T,
| FEf
| | Time
ny L N3
H A EIER 2L N4
Output rotation
sligjegg | bt b Y ‘ R<FfE
Time

OFHED bLY - BEREA ML DET

Calculation formula for output torque

SEHED LY

Average output torque

Tao

Nm

oo P | T | T e e e T
net,+n,ctyeeen ot

n n

=AHS LD

Peak output torque value

Tmo

Tmo = 7—/, 7—2, o0 7;, O)EEij({E
Tmo = Largest among Ty, Ty, = T,

BAED ML DHBREARENUT THD e 2 CHEETIW

Please make sure the peak output torque is below the maximum output torque in the specification table

QAN EERE - Zma AN EEHOHET
Calculation formula for mput speed
SEigH A [EER L . Nt Fn,cteeen, ot
A nao | r/min nNao=
Average output rotation speed t+ bttt
B i ) B8RSR nmo | t/min MO = M Nz e 0, OFKIE
Peak output rotation speed nmo = Largest among ny, n,, *** N,
YA S EEREL : ; - _ s = rati
Average input speed nai | r/min  pai=nao x R (R=ig&LL) (R = ratio)
HEm A EERE ; ; - = b = rati
Peak input speed value nmi | r/min  nmi=nmo x R (R=E&EL) (R =ratio)

EeANBREHIHAERSANREGEHA T THD L2 CHRTIW

Please make sure the peak input speed value is below the maximum input speed in the specification table

QF A DETE

Calculation formula for life span

BT SR _ Jar \% [ nar
Part life span for the elastic bearing Live 2 Lhe = 10000 x Tao nai
TEM MILY Tar | Nm | TEREROIFATEM bLY
Rating torque Nominal output torque in the specification table
TERE AT EIRREL ; i
Rating input rotation speed nar r/min | 2000 r/min

FLEXWAVE WP>1—X

=N
91478

High torque

type B

suoneooads
/ 19POA 18onpay

a|ge] suoisuawiq

uonewnsa oy

(et ) SIR2PEDM | (pEEe ) SRR Eh

(Buneaq onse|3)

(Bulleaq urely)
uolewnse o)

Jeys 1nduy
1B PEO| WNWIXe

uolew.oUl JuBDLIgN|

Juswalinbal
2INIXI1} JUBLIYOBNY

anbJio| Bumwsuel|

ainjonJis uonoes Induj

suonon.sul Alquiesse
pue uone|jeisuy|

38

S

e
Xl

| S b B

S ¥

PO >

3
7

[T

e
I 3 i

NS

I R 2 >




39

High torque type B [grio5+ 78]

FEaiEtE (ERF) Life estimation(Main bearing)

N EEHRAR(VORO—J8%) Main bearing specification(Cross roller bearing)

©

JODEYyFAE |77ty b8 | EABEREE | EAREREE | FFAE— XV b | £—XV MElE
- 4 4 | Pitch circle diameter Offset Basic dynamic |Basic static load | Allowable Moment
) . | of the bearing rollers load rating rating moment rigidity
Series Size
Dm L C Co Mal Km
m m N N Nm x10*Nm/rad
85 0.0335 0.0088 5620 6540 36.5 7.35
42 0.0410 0.0098 6340 8170 55.8 8.02
WPU-[J-[1-CG | 50 0.0485 0.0098 10400 13300 91.0 13.5
63 0.0620 0.0108 15800 21100 156 27.7
80 0.0815 0.0128 24400 35600 313 66.0
85 0.0505 0.0162 7110 10200 74.0 14.4
42 0.0598 0.0180 10900 15200 124 19.7
WPS-[1-[1-SG | 50 0.0708 0.0194 17200 24700 187 40.1
63 0.0856 0.0234 25100 37400 258 71.5
80 0.114 0.0292 43300 67600 580 188
85 0.0505 0.0217 7110 10200 74.0 14.4
WPU-C1-01-SGH 42 0.0598 0.0235 10900 15200 124 19.7
T 50 0.0708 0.0254 17200 24700 187 40.1
WPU-[]-[1-SGJ
63 0.0856 0.0289 25100 37400 258 71.5
80 0.114 0.0357 43300 67600 580 188
FEZF A |
Life span for the main bearing Fr, |
Fr, !
B/ Y —Y SUTNHE | L
Operation cycle example Radial load ! Fr, _?Ef;ﬁ
Fa,
Fa,
TF¥FUYILEE Fa,
Axial load Fa, E%FEﬁ
! Time
ny 2 N3 i
i) Bl 2  "\Un
Output rotation : FREfE
speed L [t Yy ‘ Time
W SV EREfar
External load L
Lr L L L
I L = S L — £ ]
Fr I 1
@ ] w £ £ r E| I
] a a L al
) LF:> : | |




DREKERmE—XVIDEH

Calculation formula for the largest working moment

?ﬁ(ﬁﬁf?&—%‘/ > Mm | Nm  Mm=Frm - (Lr+L)+Fam - La

eak working moment

BARZ VT IR Frm N Frm = Fr,, Fry -« Fr, OBKIE
Peak radial load Frm = Largest among Fry, Fry, - Fr,

BRRT F 4 IILE Fam N Fam=Fa,, Fa, - Fa, DEKIE

Peak axial load

Fam = Largest among Fa;, Fa,, --- Fa,

BARERE—AVIMERE—XVIMNITTHIZLECHER TN

Please make sure the peak working moment is below the maximum allowable moment

QFHSYTIHE - TV vILEE - FHENREERR - FHERE—XV M OEH

Calculation formula for the Average radial load, Axial load, Average output rotation speed,

Average working moment

S O T ILEE

_ fa | N Frac®) metelFrl Y bl e 1t |
Average radial load npet,+ny,tbeetn t,
o . 10 10 10
‘T‘F‘iﬁ—F:\—_"/’\”)l’ﬁfE Faa N Faa= Y| ™M tw’lFawl /3+I72- t2°|FaZ| /3+'"+ My t”'lFaﬂl &
Axial load nw.t1+n2.t2+...+nn-tn
g EEREL Nty 0, teeen, -ty

Average output rotation speed nao r/min

nao =
t o4ttt

Wiﬁﬁﬁ%—)(‘/ l\ Ma Nm

Average working moment

Ma=Fra-(r+Ll)+Faa-la

QRERM -BEM>Y 7 IILREOHEH

Calculation formula for the Loading factor, Equivalent radial load

Faa

=15nHE. Xc=1.0, Yc=045
Fra+ 2Ma /Dm

TTEREL
Loading factor Xc, Y =
Faa > 1.5mn%B4E Xc=067, Yc=0.67
Fra + 2Ma / Dm
BEM> 27 ILAE Pc N Pe= Xc- (Fra + 2Ma/Dm) + Y - Faa

Equivalent radial load

@DEWMZOFaFHEOTE

Life span for the main bearing

TSR the |

Life span for the main bearing

10°
60-nao

C
fwe Pc

Lhec =

1.0 . HEEZHEDLLTWEGES no shock

EERRK

Impact factor

1.2 ZHOOERE#SHS  with some shock

1.5 IREMEELZHOHE with shock and vibration

FLEXWAVE WP>1U—-X

=N
91478

suoneoloads
/ [opO J8onpay

(Buiieaq urepy) (Bulesq onse|3)

uonewnsa oy

Jeys 1nduy
1B PEO| WNWIXe

Juswalinbal
2INIXI1} JUBLIYOBNY

suononsul Alquiesse

9|ge| suoisuswi(

uonewNsSe aj

(b ) SRR I | CdEEeR) SEELED

uolew.oUl JuBDLIgN|

enbio] Bumiwsuel|

2IN}oNJ1S U0N10aes Indu|

pue uone|esy|

40

S

High torque
type B

e
Xl

| PAHESE B

S S

PO >

3
7

[T

e
I 3 i

N ST




41

L

High torque type B [griwo5 1 7B]

ATERNDEFRFTE Maximum load at input shaft

BN E#Z AR (F—T VB, 22y 94 7) Bearing specification (Open type, Unit)

NT7YvTA 7YV B
Bearing A Bearing B
== HAZ| BEARBERTE HABERATE HEABEMTTE FABE T a b
Series Size | Basic dynamic load rating | Basic static load rating | Basic dynamic load rating | Basic static load rating
C Co C Co
N N N N mm | mm
86 4000 2470 4000 2470 16 27
42 4300 2950 4300 2950 16 31
WPU-[J-[J-SGH| 50 4500 3450 4500 3450 145|275
63 4900 4350 4900 4350 15.5 | 30.8
80 14100 10900 5350 5250 19 | 37.0
85 2240 910 1080 430 24 | 215
42 2700 1270 1610 710 27 | 23.5
WPU-[]-[J-SGJ| 50 4350 2260 2240 910 315 | 26
63 5600 2830 2700 1270 375 29
80 9400 5000 4350 2260 39 | 385
7YV TA 7YV TA
Bearing A — ] . Bearing A — ] . .
’ ~RFYYHB ’ RFYVYB
\P Eifﬁj Bearing B \i B Bearing B
& B 1
a b a b
W HFATRE (FHAAEERL: 2000r/min, F4a##HE 1 10000h)
Maximum load (Average input rotation speed : 2000r/min, Life span : 10000h)
WPU-[]-[J-SGH WPU-[]-[1-SGJ
800 35 500 35
\ — e )
450
700 \ e 50 \ 50
400
=, \ e 80 Z 350 \ e 80)
_ 500 — 300
L \ L \
el 400 WY 250 \
*'SE‘U 300 N\ \ #SE‘U 200 =00
R § ——— \ \ l: (:8 150 \ \
IN a IN o
100
N~ N 50 NN\
0 T T T 1 0 T T 1
0 100 200 300 400 0 100 200 300
T7HFUHILEE Fa [N] TV ILFEE Fa [N]
Axial load Axial load




=197
91478

High torque
type B

SEYBE lubricant information g7
5z
> 7 % I\
FERIJ—R -
Grease |
o <
237w ZSFB No. 1 (858 BFIE A %) Sumiplex SFB No.1 (SUMICO LUBRICANT CO., LTD.) 3 1
[FREESHE : 0~40°C (BHEEE) Operating temperature range:0-40°C (ambient temperature) S =
oy
)-8 a5 & |
Grease application %g gi
. . PR R o5 &l
PUF @Y, BoEEg RIS T —2ZRH L TR IV, Please apply grease according to the table below. gL =
55
CRE
W JV—RBME Grease application %
-BRIEETCIZOIBEEDOIRY 7 ZB (HORAEmE, EME, THE) CLUBRHEZERELTTSL, =5 7 B
(T)=ZHAFHDIZY ;IATE. CHERET)DT)-ZEATEINTNET,) §§§$
- AHASSY ~4 — ZANEECZERIN50% DT — R EFHELTFEL, 2 E
S —RBREHCLU T - 2N R R BHA R Bt ETHRELAhEEEN, @
-The qL_Jantity of grease applied to C shopld BT Applied part =
be adjusted depending on the mounting HA4Z c c c s A
direction. Size )
C of the unit type product is already A B H(*ﬁréq%}) (Emz) | (FAZ) D o B
. . : orizontal | Vertical up | Vertical down S))
filled with the same quantity of grease as g £
horizontal mounting. 35 0.3 0.3 6 8 9 0.3 2 B
-50% of the space between input assy 42 0.5 0.5 10 12 14 0.5 5 o
and CaSiﬂg inner wall should be filled with 50 0.8 0.8 16 18 21 0.8 a E
grease. S 4
-If the amount of grease is not sufficient 63 1.5 1.5 30 35 40 1.5 E
due to case design, please contact us. 80 3.0 3.0 60 70 80 3.0 s #l
. . g
W JY)—2BHEER Grease application location 3
2
| WPC-1-[1-CG | | WPU-[1--CG | | WPS-[1-[1-SG | o
, 8 i
! 3 f5
S22 Sg g
70 =4
= B B 2
C
d o o P 5
¢ ¥
H 2
o 7
Casing
E?SOZGE& TEOS0%EFIHE - - |
Fill 50% of the gap in volume 77— 8 A
= 7
E g |:||-S
s 1B
L | ; &
‘ 27 X |
H 3 Qz) =2
| c2 =
U S
-2 B0 50%E 7H 5

FLEXWAVE WP>1—X 42



43

M

High torque type B [grio5+ 78]

EN{~T¥5 R Attachment fixture requirement

B BB E Attachment fixture requirement

| wPC-J--CG |

L] ¢ 4 L[ e A
L] s[4
; =2
r
Casing m Input
T—x 3 section
3 AD
@ 3 S
E 5 K
Output ° 83 g -+ -
=]
Lo ] # '// );
2 %
BfHEE [mm]
P4 X
Size 85 42 50 63 80
a 0.015 0.015 0.018 0.018 0.023
b 0.010 0.012 0.014 0.016 0.020
© 0.013 0.013 0.015 0.018 0.020
d 0.015 0.015 0.018 0.018 0.023
e 0.015 0.015 0.018 0.018 0.023
f 0.012 0.012 0.014 0.016 0.016
g 0.016 0.020 0.024 0.024 0.024
| WPU-I--CG | | WPS-[-1-SG |
©f v A
L] 2 [A r=2
Casing
Z e, (L2 A
. AN
=2 £8 2
._.j ﬁé% xe ﬁ
= L[ oA L] 4 A
/
[ [’
) ]
7 |
B THEE [mm]  EfHHEE [(mm]
Y4 X P4 X
Size B 42 50 63 80 Size 88 42 50 63 80
a 0.020 | 0.020 | 0.020 | 0.025 | 0.025 a 0.025 | 0.025 | 0.025 | 0.030 | 0.030
b 0.012 | 0.012 | 0.014 | 0.016 | 0.016 b 0.020 | 0.020 | 0.020 | 0.025 | 0.025
© 0.016 | 0.020 | 0.024 | 0.024 | 0.024 © 0.020 | 0.020 | 0.020 | 0.025 | 0.025
d 0.012 | 0.012 | 0.014 | 0.016 | 0.016
e 0.016 | 0.020 | 0.024 | 0.024 | 0.024




=N
91478

High torque
type B

—_ L
{=ZE NIV Transmitting Torque £7
O.c PRI1Ix
58
sz H
N 3 g T
NIV MERf .
Bolting |
. . o -
RILEOFER MILYEFTFERDBYTT, 3 _i
IV NAEORE A LD (CTURERTRER ML A RBRUET DO TIEE TS, g =R
Please refer to the table below for the bolt tightening torque. g
Please be noted that the transmittable torque varies depending on the bolt count (different between CF and CN) ©
and tightening torque.
s F
iy W
> gg E
RIL N b ILY it z
Tightening torque for bolts 8 i%
RILEHA X |Boltsize M3 [ M4 | M5 | M6 | M8 [Mi0 AL @ BBERS 12.9 BlE =]
R R Lo [Nm]|Tightening torque | 1.9 | 43 | 87 | 15 | 36 | 71 Recommended bolt : =5 %
Strength rating above 12.9 o& =
25 &
é8s T
i@
(BENILY (PO—ZB. 2=y 947) =
Bolt specifications and Transmitting torque (Closed type, Unit) 35 %
» 3
HH 75V BT Output flange attachment 23 ?%
4 X Size 35 42 50 63 80 2 i
AL A X Bolt size M4 M5 M6 M8 M10 B %J
AL AR Bolt count 6 6 8 8 8 |
uff PCD _[mm] |Bolt PCD 23 27 32 42 55 : ®
fBft b [Nm] [Tightening torque 4.3 8.7 15 36 71 g &
{=2 bJLY [Nm] |Transmitting torque 56 106 238 566 1177 5
3
AV FILFVEST (CG) Internal gear attachment %’
PR Size 89 42 50 63 80
AL A4 X Bolt size M4 M4 M5 M5 M6 gg By
S Bolt count 8 8 8 10 12 st
Bxft PCD_[mm] |Bolt PCD 65 71 82 96 125 38
#E b L2 [Nm] [Tightening torque 4.3 43 8.7 8.7 15 g
{=ZE b JLY  [Nm] |Transmitting torque 210 230 430 629 1392 3
1> 2 F IV XV ET 3 =
Internal gear attachment N\—— g J%
g L
B ! 9
my g
___l_ 3z A
$H7 5 UE -]
Output flange 8 %[g
attachment S i
- 1 _ - 2 =
=2 ]

FLEXWAVE WP>1—X 44



M

High torque type B [griwo5 1 7B]

{=ZENILS Transmitting Torque

EYENILY (UO0—ZB avKRY R AT)

Bolt specifications and Transmitting torque (Closed type, Component)

T Ly AFVEUT Flex Gear Attachment

b4 X Size 85 42 50 63 80
ALY AX Bolt size M4 M5 M5 M6 M8
RIL b AL Bolt count 6 6 8 8 8

Eft PCD  [mm] |Bolt PCD 17 19 24 30 40
#E b L2 [Nm] [Tightening torque 4.3 8.7 8.7 15 36
{=Z bJLY  [Nm] [Transmitting torque 41 75 126 223 539

A5 FILFVYEA (CG) Internal Gear Attachment

b4 X Size 85 42 50 63 80
RIL A X Bolt size M3 M3 M3 M4 M5
RIL b ASK Bolt count 8 16 16 16 16
Bft+ PCD  [mm] |Bolt PCD 44 54 62 75 100
54 bJLs [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7
f=Z LS [Nm] |Transmitting torque 82 200 230 485 1048

42" F )LV EfT

Internal gear attachment

- - 2

JL w7 R EfT

Flex gear attachment

OBV IRMIEN Reinforcement

Ly AF VRN OGEZENVIDEREB-ITWGEIE. EVOFRZPEWLLET,
EvldA 7 oa v CEIMAIEETT,

Pins can be added if the transmittable torque at the flex gear interface is not sufficient.
As an option, holes can be added.

Thru hole for pins
=N

2K or LA

Forcing tap

WP-35, 42 WP-50, 63, 80

45



s

91478
High torque
type B
L3 LB
R 3
ga &
5z &
7 é =
TZENILY F—F ) -
Bolt specifications and Transmitting torque (Open type) I
g =t
3 .
7 Lw I ZAFVEUT Flex Gear Attachment % %
Y4 X Size 35 42 50 63 80 2
RILbHA X [Boltsize M3 M3 M3 M4 M5 &
RIL b AL Bolt count 8 12 12 12 12
Euff PCD  [mm] |Bolt PCD 64 74 84 102 132 —
%5 b L2 [Nm] [Tightening torque 1.9 1.9 1.9 4.3 8.7 @f ?ﬁ
{&ZE bJLY [Nm] |Transmitting torque 119 206 234 495 1037 g’% =t
g #H
AV FILFVEUT Internal Gear Attachment 8’ E
HA X Size 85 42 50 63 80 %
AL YA X Bolt size M3 M3 M3 M4 M5 s = |
RIL NS Bolt count 8 16 16 16 16 %g i
Egff PCD  [mm] |Bolt PCD 44 54 62 77 100 g5 %,_t
54 bJLs [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7 as =
{&ZE bJLY [Nm] |Transmitting torque 82 200 230 498 1048 gim
35 A
EX P
22 #
B i — =2 D
] A2 7 F )L X Eft g ﬁ
_% Internal gear attachment 0 11%
JL v R XYy Eft 1 =
Flex gear attachment | {5 c om0
5 /A
= Al
3z m |
Ly UV AEVEM  Ee—— A2 2% R < a
Flex gear attachment \ \—ﬁ;/ Internal gear attachment S% JE
O3 X
i 3

|
T
I
I
I
T
I
I
|
[
anbJio) Bumiwsuey
S xa i

— 1
e A B F )L v Ef EUN
2Ly o REYE L Y Internal gear attachment s 7
Flex gear attachment “\ Y1 g H
3 s B
%) =

—1 ||

suonon.sul Alquiesse
pue uone|jeisy|

FLEXWAVE WP>1U—-X 46



47

S

High torque type B [griwo5 1 7B]

AFEZRFEE Input section structure

ATBBDIEE

Input section structure

ANEEEZ R T IA V547 (BEROEE) LUV Y RIATH BV ANNEZFICIVRBRUES,
FMETERICTHERR TS,

There are two types of input section structure, spline type (self-centering feature) and rigid type.

W RTS405947 (BBIERDEE) WUy REAT
Spline type (self-centering) Rigid type
— — S _
N LINESTIE

Cam hole diameter
DLRBTEEIEETDIENTRETT . FROZBENRZTEUTOEEE AT IA V54T BERRF
~EBRKNBZEOSHHI) Y R4 TERVFET, FROSBENDOTENVBELRGEE. BOWEHETIL,

The diameter of the cam opening is customizable. Holes smaller than the 'standard hole size' in the table will be
built in the spline type. Holes equal to or larger than the 'standard hole size' and smaller than the 'maximum hole
size' will be built in the rigid type. Please contact us if you need sizes outside the specification in the table.

H v
751 Ls~ti%& Cam dimension [mm]
T4 X
Size 35 42 50 63 80
BRIEE 6 8 12 14 14

standard bore size

BARINEV
maximum bore size 17 20 23 28 36

BNEE H
minimum thickness 6 7 8 9 11




=N
91478

High torque
type B

S = . . . .
SERERIR Installation and assembly instructions fium
S8 1%
5z &
28 XN
AT I D HF (WPC-0-0-C6) -
Shaft installation instruction |
—_ . — ~ — . g N
AFE- HAEIE BT 25U T EE - PR v LT EE R T EOBELL TS, !
(FRIZBZH) g X
ALICIETBEEABASDASAMIENMERBLET  ALDBHRICEINEVELI BELTFEL, g
Please design the support structure for input shaft and output shaft so that both radial and axial loads are °
supported. (Diagram below shows an example) |
Inside thrust load has effect on the cam. Secure cam from the possible axial movement. ms &
Hi 7% 58 =
Output shaft AT G
Input shaft %
O[Ol 2 & |
< [ gt =B
) . I d g2 &
L 1
==y bﬂjﬁ < i
) - SF A
1 L h L S 7
) G 22 B
am SER
2 A
p 2
T}
=
EX f+F ~F 3% (WPC-01-00-CG) BEE AR
Attachment flange requirement 8 %ﬁ
Ty AX P EETDIRMN 7SIV VI 7Ly I AFPREER LD g
. FROTEETFOTTFEL,
For the attachment flange that comes in contact with flex gear, please -
build the corner radius according to the table below, in order to prevent s> w |
damage. L |1 o cE ?Eﬁ
) i1
EE:"I:j_' T " gi -3
o 35 42 50 63 80 3
D 245 29 34 42 55 :
R 1.2 1.2 1.4 1.5 2 e
s b
%
2 A
s A
2 Ep
s
58 %
ssS 1|
E

FLEXWAVE WP>1—X 48



49

Flat type D

SRR BT Reducer Model Nomenclature

WP

U

—| 35 |—| 50 |—| CD

V)4 947 Y4 X BELL a— R~
Series name type Size Ratio Code
WP U—X C:2vRxybsA17 35 50 CD
Component type
WP Series S 42 80 CDH
Simple unit type 50
U:21=vbo47 100 SD
2=y N4 T (FRZedh) 63
Unit type
Hollow unit 80 120 SDH
HO—REEMIETIERE SRS,
Ju D ahili For the code details, pl heck
OHER Avallability the Dimensions Table,
Ratio matrix
N R
Nyl 50 | 80 | 100 | 120
g 35
© 42
L
50
63
80

SRR AR Reducer Specifications

x4 %5 X6 K7
‘ HFAER HFARK ERRRA AT HFARE = ARER
. | BOEEL % by by AN EEES AN EEEEK
-'j-./f A | ‘Ratio | Nominal output | Maximum output | Emergency stop Nominal Maximum input Lif
Size R*! torque torque torque input speed speed e
[Nm] [Nm] [Nm] [r/min] [r/min] [hours]
50 3.7 12 24
85 80 5.4 16 29 3000 8500
100 5.4 19 31
50 11 23 48
80 15 29 52
42 7
100 16 37 55 3000 300
120 16 37 55
50 17 39 69
80 24 51 75
50 100 28 57 76 8000 6500 7000
120 28 57 76
50 27 69 127
80 44 96 147
63 100 47 110 152 8000 5600
120 47 110 152
50 53 151 268
80 82 212 334
4
80 100 96 233 359 3000 800
120 96 233 359

A REZIN—YORICANTRELERHTLZE WL
¢ 2 ADEEREL 2000r/min OEFICHA T 2&RAME

¥ 3 EEH) - (FULRICHFA T DHKIE

WA BEENMEA LIERICHA T 2RKAE
¥ 5 BEAICHAT 2P ANEGERORAE
¥ 6 BEHICHFAT D AN EEHORAKIE
3 7 ANEERE 2000r/min, FAER bV Y AREOFHEH

*1 Reduction ratio is to be calculated by the formula in the previous page, using R value in this table.
*2 The maximum allowable value at the input rotation speed of 2000r/min

*3 The maximum torque when starting and stopping.

*4 The maximum torque when it receives shock.

*5 The maximum average input speed.

*6 The maximum input speed.

*7 The life time at the input rotation speed of 2000 r/min and nominal output torque.



R
917D

Flat type D

~FyE3R Dimensions Table 23 1135
2=
58 1
52 &
> N o o ) §§ :_l'—t
HoO0—X8 OVRRVNYAT . £ |[BHE-—XUF 2 <
Cl dT C "j'S’f7\ Weight Moment of inertia
osed Type, Component ize " < 10°Kg?
35 0.062 0.0226
WPC-[1-11-CD 42 0.10 0.0565 2 3
50 0.16 0.113 § =
63 0.26 0.342 3
80 0.57 1.18 &
LE
LF LG e
LH c s ﬁf
LJ o &g GHEn
w5 s L-SU N-¢LU X =it
S35 @
5= BE
{ 2 TE
g s <
2 : L R
o« 5220
z 2 A
5 ]
=
8% -
X L
SE W
s i
33 1
52 K
B |
3 =
ERNN
5 [mm] g
ﬁgéé‘ LA | LB LE LF | LG | LH LJ LK N | LT 57
35 44 50 11 6.5 45 1.4 - 0.3 6 3.5 . M3 ’
42 54 60 125 | 75 5 1.7 - 0.3 8 35 . M3
50 62 70 14 8 6 p) 3.3 0.3 12 35 6.5 M3 53 0% |
63 75 85 17 10 7 2 3.3 0.4 12 35 6.5 M3 2% =
33 1|
80 100 | 110 22 13 9 25 4.4 0.5 12 45 8 M4 ]
tggg: SA | sB | sc | s | sE SE | ox | cy | cz M ST | su
35 17 11 23.5 11 17 4 6.5 1 38 8 35 M3 g i@
42 19.5 11 27 15 21 5 75 1 45 8 4.5 M3 % jf
50 24 16 32 20 26 5.2 8 15 53 8 45 M3 5 ¥
)
63 30 20 40 24 30 6.3 10 15 66 8 55 M3 &
80 41 30 52 32 40 8.6 13 2 86 10 6.5 M4
% CX. CY. CZ (& —AMNEEHER~TETT, *Inner dimensions of CX, CY, CZ are recommended dimensions. o

FLEXWAVE WP>1—X 50



51

Flat type D

~FyEZFR  Dimensions Table

S

HO0—ZB 2=y AT . B [EMET-—XUr
Cl dT Uni ﬂ—S/fZ Weight Moment of inertia
osed Type, Unit ize % 10
35 033 0.0227
WPU- =[] -CD 42 0.43 0.0565
50 061 0113
63 11 0.343
80 02 118
LE
LF LH
LG - cy
QS\'X
O
— — uh'_lﬁgk —
ZlglE] < SN
S EE G ws glal¥|sl=
d|Wei
LJ LM
LK
[mm]
b;ﬁz e7‘ LA | B | 1lc|w || LW |wK|wWH|w |  |w]|N LU
35 49 | 55 | 31 | 425 | 25 | 23 | 05 | 2 5 | 147 17 | 6 | 35
42 56 | 62 | 38 | 495 | 265 | 245 | 05 | 2 5 | 162 | 17 | 10 | 35
50 64 | 70 | 45 | 58 | 207 | 277 | 05 | 2 5 187 17 | 12 | 35
63 79 | 85 | 58 | 73 | 371|341 | 05 | 3 | 55 | 236 | 26 | 18 | 35
80 | 104 | 112 | 78 | 96 | 43 | 40 1 3 | 55 [ 305 25 | 18 | 45
*’éfzex SA | sSB | sc | sD | SE | SF | ¢y | cz | ™ ST sU
35 o5 | 12 | 11 11 17 4 1 38 | 10 M3 x 6 M3
42 27 | 14 | 11 15 | 2 5 1 45 8 M5 x 8 M3
50 34 | 18 | 16 | 20 | 26 | 52 | 15 | 53 8 M6 x 9 M3
63 42 | 24 | 20 | 24 | 30 | 63 | 15 | 66 8 M8 x 12 M3
80 57 | 32 | 30 | 32 | 40 | 86 | 2 86 | 10 M8 x 12 M4

# CY, CZ 134 — AREEHEETE T,

*Inner dimensions of CY, CZ are recommended dimensions.



HO0—ZB 2=y AT . B |[EET-—XUF
Cl dT Unit "j'S’f7\ Weight Moment of inertia
osed Type, Uni ize = Ry~
35 0.46 0.0228
WPU- =[] -CDH 42 0.63 0.0571
50 0.91 0113
63 16 0.344
80 30 1.18
LE
LG LF
0-ring L Q-ring
=
! p—
SipE
B ws g|%|3ls
; Lf <
LJ LN
LK
LM
[mm]
*géé( LA | B|LC || LE|LF ||| Wl wWK|w|WN| N/ LW
35 64 | 70 | 49 | 48 | 22 | 215 05 | 25 | 39 | 49 | 129 | 28 35
42 74 | 80 | 59 | 56 | 227 | 222 | 05 | 25 | 14 | 37 | 134 ] 28 | 8 | 35
50 84 | 90 | 69 | 64 | 268|245 | 23 | 25 | 43 | 48 | 163 | 28 | 8 | 35
63 | 102 | 110 | 84 | 80 | 315 | 204 | 21 35 | 55 | 185 34 | 10 | 45
80 | 132 | 142 | 110 | 106 | 37 | 342 | 28 | 3 | 25 | 6 |205| 35 | 10 | 55
'%é;i SA | SB | SC | SD | SE | SF | cz | M ST sU
35 42 130 | 11| 11| 17| 4 | 38 | 8 M3x5 | M3
42 50 | 34 | 11| 15 | 21| 5 | 45 | 10 M3x6 | M3
50 60 | 40 | 16 | 20 | 26 | 52 | 53 | 8 Max7 | M3
63 73 | 52 | 20 | 24 | 30 | 63 | 66 | s M5 x8 | M3
80 % | 70 | 30 | 32 | 40 | 86 | 86 | 8 M6 x 10 | M4

3 CZ 3T — ARNEEHER~IETY .

*Inner dimensions of CZ are recommended dimensions.

FLEXWAVE WP>1—X

uolewoul yueolgn) |(Bulesq urely) uonewnse a4

R
917D

Flat type D

e
o1

| SR

suoneolyioadsg
/ |8pOIA Jeonpay
e

a|qeL suoisuswig

/ (Buleaq onse|3)
uolewise aj

(MeEH ) SR SD A
[ ) SEEI>A

/ Weys indul
18 PBO| WNWIXBIA
I i

RO B>

N
7

/ FNEY

e

Juswalinbai
i

aINIX1} JUBWIYOBNY
Bl

i

N ST

anblo| Bumiwsuel|

pue UonE|eIsU|
ol o it

suononJIsuUl Ajlguasse

BlR( SOlIsleloRIBYD

52



53

~FyEZFR  Dimensions Table

S

Flat type D

F—TVE I NIAT i B |BET-XUF
) ) Y4 X Weight Moment of inertia
Open type, Simple unit Size kg X10 kg
35 031 0.0233
WPS- 1= -SD 42 0.43 0.0578
50 054 0.114
63 093 0.347
80 20 1.20
LE
LF LH
LG 0-ring
W
O
YUl =
E E = g N E E
alg] 8 s gls a3
®
(_\q
B &
K?‘
QY% cy
[mm]
4;;|42 ez LA LB LC LD LE LF LG | LH LJ N LT
35 43 70 50 49 | 175 | 155 | 24 2 157 | 8 M3 x 4.5
42 50 80 61 50 | 185 | 165 | 3 2 169 | 12 M3 x 4.5
50 | 614 | 90 71 69 19 17 3 2 178 | 12 M3 x 4.5
63 76 | 110 | 88 84 20 20 | 33 o | 216 | 12 M4 x 6
80 90 | 142 | 114 | 110 | 279 | 236 | 36 | 43 | 273 | 12 M5 x 8
%fzex sA | sB | sc | sF | cA | oy | cz | cv | cw | ™ sT | su
35 64 11 17 4 03 1 365 | 16 | 31 8 35 | M3
42 74 15 21 5 03 1 435 | 2 37 12 | 35 | M3
50 84 20 6 | 52 | 03 | 15 | 53 2 44 12 | 35 | M3
63 102 | 24 30 | 63 | 03 | 15 | 66 2 56 12 | 45 | M3
80 132 | 32 0 | 86 | 05 2 84 2 72 12 | 55 | M4

3 CV. CW, CY. CZ (3 —AAEBEHESE~HE T,

*Inner dimensions of CV, CW, CY, CZ are recommended dimensions.



A—TVE 2=y AT (FZeEh)

Open type, Unit (hollow shaft)

WPU- ] -] -SDH

M-¢ST

—lj—STL e7: Weiit 1ﬁl%ne{nt of)i(ne/rtile;
kg x10kgm?
S5 0.49 0.0839
42 0.66 0.180
50 0.84 0.352
63 1.4 0.940
80 2.8 3.47

LG

LF LH

LL LK LJ

INPUT SHAFT FOR 35&42
[mm]
A% A | LB | LC | LD | LE|LF|LG|LH | L |[L|L]/|L/| L /LR
35 | 43 | 36 | 52 | 70 | 455 | 195 | 12 | 14 | 65 | 75 | 9 | 25 | 55 | 65
42 | 52 | 45 | 62 | 80 | 48 | 205 | 12 | 55| 7 | 85 | 10 | 25 | 55 | 65
50 | 614 | 50 | 73 | 90 | 42 | 215| 5 | 155 | 7 | 85 | 105 | - ] ]
63 | 76 | 60 | 87 | 110 | 465 | 24 | 6 | 165 | 6 | 105 | 105 | - ] ]
80 | 99 | 75 | 114 | 142 | 55 | 286 | 7 | 194 | 75 | 119 | 12 | - ] ]
'%gg: SA | sB | sC | SD | SE| SFE | M | sT sU N LT
35 | 64 | - | 14 | 20 | 74 | 36 | 8 | 35 M3 8 IM3x45 ¢35x55
42 74 - 19 25 84 45 12 3.5 M3 12 M3 x 45, ¢ 35x%x65
50 | 84 | 255 | 21 | 30 | 95 | - | 12 | 35 | M3xs6 12 |M3x 45, ¢35x65
63 | 102 | 335 | 29 | 38 | 115 | - | 12 | 45 | M3xs6 12 | Max6 ¢45x85
80 | 132 | 48 | 41 | 54 | 147 | - | 12 | 55 | M3x6 12 | M5x8 ¢55x7.6

FLEXWAVE WP>1—X

uolewIojul JUBDLIgN| |(Bulieeq Ulgpy) uoTewss ey

R
917D

Flat type D

£7 1y
8 2 Bk
R
2= #I
s§ =
w% I\
o ~
3 &
o R
=]
=]
[
Iy
g
1]
EEE
%g BN
SRR
Iy EHE
2o~
55 o
ST
— i%ﬁ%
~ X
e

/ Weys indul
18 PBO| WNWIXBIA
T i

RO B>

N
7

/ FNEY

e

Juswalinbai
i

aINIX1} JUBWIYOBNY
Bl

i

anblo| Bumiwsuel|
AN\

pue UonE|eIsU|
ol o it

suononJIsuUl Ajlguasse

BlR( SOlIsleloRIBYD

54



Flat type D [&¥5+7D]

L

EoSTE (SEMEENSE) Life estimation (Elastic bearing)

HEEZFamaTE

Life span for the elastic bearing

W Em Y-V

Operation cycle example

T, | |
&by | T, |
Working torque } T, ! T,
1 i)
| | Time
ny L N3
H A EIER 2L &
Output rotation
spegd bl %] Y ‘ =]
Time

OFHHA MILY - BEREA ML OEH

Calculation formula for output torque

SEHED LY

Average output torque Tao

Nm

. t1.|7‘1|3+ Nyt 72|3+...+ N, tn.|7n|3
ot

Tao :3\/ m

n,-t,+n2°t2"°nn n

=AHS LD

Peak output torque value Tmo

Tmo = 7—/, 7—2, ‘e 7;7 O)EEij(ﬂE
Tmo = Largest among Ty, Ty, = T,

BAHA ML DHFRERENUTTCHE L2 CHIEETIWL

Please make sure the peak output torque is below the maximum output torque in the specification table

QFHANRERS - EEHADEEHROE SN
Calculation formula for mput speed
5 ElEREL - et +n,tren, -ty
A nao | r/min nao=
Average output rotation speed ti+t,t et t,
= A [EERER nmo | r/min nmo =ny, n, -+ n, DERXE
Peak output rotation speed nmo = Largest among ny, ny, *** n,
A EIEREL - i - - — i
Average input speed nai | r/min  pai=npao x R (R=g&EL) (R=ratio)
B A EEREL i i - — — rati
Peak input speed value nmi | r/min  nmi=nmo x R (R=E&EL) (R =ratio)

REANEGEENTFRREANBELLUT THE L& THET IV

Please make sure the peak input speed value is below the maximum input speed in the specification table

@?_"._:F H‘J'Fﬁﬁmn-l_ﬁ
Calculation formula for life span
BT SR Jar \S ( nar
Part life span for the elastic bearing Live 2 Lhe = 7000 x Tao nai
TEM MILY Tar | Nm | TEREROFEER bLY
Rating torque Nominal output torque in the specification table
TER&E AT EIRREL ; i
Rating input rotation speed har r/min | 2000 r/min

55



R
917D

Flat type D

EaietE (EHF) Life estimation(Main bearing) 97 L
i 1
7 8 =
> vg@a@ = @ —
ﬁj—t == /%rﬁn'l'%: Model selection / Life estimation -
B EEHSAKR(VORO—785) Main bearing specification(Cross roller bearing)
o ~ |
JAO0OEYyFAE | A7ty bE | ERBERTE | EAHEREE | SFAT—XV b | E—XVHEE § =
A 44 z | Pitch circle diameter | Offset Basic dynamic |Basic static load| Allowable Moment g X
e . of the bearing rollers load rating rating moment rigidity ?
Series Size o
Dm L C Co Mal Km o2
m m N N Nm x 10" Nm/rad
&5 0.0335 0.0090 5620 6540 36.5 7.35
42 0.0410 0.0095 6340 8170 55.8 8.02
WPU-1-[0-CD | 50 | 00493 0.0105 10400 13300 91.0 135 505 2%
gog B0Z
63 0.0615 0.0128 15800 21100 156 27.7 gg% gg
80 0.0815 0.0130 24400 35600 313 66.0 §§§-;§§
g5 0.0505 0.0062 7110 10200 74.0 14.4 52 ¥ ;E
42 0.0598 0.0066 10900 15200 124 19.7 g =
WPU-[1-[1-CDH 50 0.0708 0.0077 17200 24700 187 40.1 é
63 0.0856 0.0092 25100 37400 258 71.5 gggﬁ%
80 0.114 0.0106 43300 67600 580 188 S22 Hl
&5 0.0512 0.0111 8010 11400 37.0 8.86 ;T:g g.%
3 N
42 0.0614 0.0112 7370 10900 62 20.8 =
WPS-[-[-SD | 50 0.0715 0.0114 8030 12800 93 225 %
63 0.0869 0.0128 14300 24500 129 33.3
80 0.113 0.0181 23700 42500 290 84.5 gg Hx
&5 0.0512 0.0166 8010 11400 37.0 8.86 §(§ %
42 0.0614 0.0177 7370 10900 62 20.8 22 E
WPU-[J-[1-SDH 50 0.0715 0.0179 8030 12800 93 22.5 S
63 0.0869 0.0213 14300 24500 129 33.3
80 0.113 0.0257 23700 42500 290 84.5
B |
B N ERE A 2k
External load @ )7"
g
WPU- [1--CD WPU- [1- 0-CDH WPS- - -SD WPU- [0- J-SDH °
L L L L
Lr L ‘—T [‘—’ o 83 i
A L 58 =
A =S i
o [l || il
il £ E £ v
] o (=) o L
© I
— Fa |
— O 4%
4> - 3 II_E
&
g

FLEXWAVE WP>1—X 56



57

g

Flat type D

ADENDERSTTE Maximum load at input shaft

BES AR (F—T VB 2=y A7) Bearing specification (Open type, Unit)

XF7Yvg A XF7YvIB
Bearing A Bearing B
A gq x| BABERWE | EABERWE | EXABERTE | EABESRTE a b
vl . A : Basic dynamic load | Basic static load Basic dynamic load Basic static load
Series Size rating rating rating rating
C Co C Co
N N N N mm | mm
85 4000 2470 4000 2470 16.0 | 20.0
42 4300 2950 4300 2950 16.0 | 22.5
WPU-[J-[J-SDH | 50 4500 3450 4500 3450 14.5 | 18.0
63 4900 4350 4900 4350 155 | 21.8
80 8800 8500 6400 6200 17.0 | 285
RFYVTA —
Bearing A R7Uv4B
1 Bearing B
s =]
W= =

B HFARE (FHAHEERZ:2000r/min, F4skER : 7000h0)

Maximum load (Average input rotation speed : 2000r/min, Life span

: 7000h)

WPU-[]-[1-SDH

=35

800

700

—1)

600

w50
—63

500

& Fr[N]

400

i

300

77 )Lq

AN

200

P

Radial load

100 +

100

200

300 400

7 ¥+ I)LfE Fa [N]

Axial load




R
917D

Flat type D

VBRIl Jubricant information £3 1t
Sz Al
7 8 =
FERIY—R -
Grease
237w 2ZMP No.2 (1E§EE RIS %t) Sumiplex MP No.2 (SUMICO LUBRICANT CO., LTD.) |
FREESH: 0~40°C (BAFEEE) Operating temperature range:0-40°C(ambient temperature) g g
2 %
JU—R B
Grease application ©
EUFoBY . BEE RIS —R 2B HLTTEW, Please apply grease according to the table below.
W J)—RRHE Grease application CR5 B % B
ot g . R e = 2 %o AR AD
BAERTCIE HEMOMU M 48 (AR RAE, FRE FTAS)ICLURTREZEELTRSL, 0
(FY—RHAFBDLZY M4 T4, C MR E) DF - ZBHAREINTOET,) e
SBSEHE E I E FAEDHAFANASSY ~r—2HEECZEN50% DY J—2EFELTFEL, BT
T —RAEFHIKV T —ZADAR R THH A EEFITERVWEHELZEL, (9] s -2
-The quantity of grease applied to C should BIEET Applied part 3
be adjusted depending on the mounting H4 X o) C C ;5'3 A
direction. Size = & &5 g3g &
, , A B (#EmE) | (tAE) | (FAE) D FEZ BN
C of the unit type product is already Horizontal | Vertical up | Vertical down SSE Al
f|||e_d with the same quantity of grease as 35 0.2 0.2 3 4 5 02 532 Z)F
horizontal mounting. S 3 =
-For vertical up/down, 50% of the space 42 0.3 0.3 S 6 ’ 03 § L=
between input assy and casing inner wall 50 0.4 0.4 8 9 11 0.4 S =
should be filled with grease. N 63 08 08 16 19 21 08 =
-If the amount of grease is not sufficient
due to case design, please contact us. 80 1.5 1.5 36 42 48 1.5 3z Iy
N . s f
B J)—R2BHER Grease application location 53 FE
S22 X
| WPC-0-0-CD | | WPU-0-0-CD | 3
7—Z  EEOS0%EFRE ¢
7—2
Casing TEEOS50%%EFTIE )
D Fill 50% of the gap in volume ;f;;ﬁp“ed h |
i THE 2 B
Vertical 3 iE
down ERRIN
s b
oY
rAE
- Vertical
= up 1
= =2\ EBO50%% 7 %g =
Horizontal =2 EEO50%%FTIE ég %
—.D I/\
| WPU-J-[1-CDH | | WPS-0J-J-SD | 23
F—2  EEOS0%EFE r—2Z EBOS0%ERE 5
K H ‘ i ! ﬁ B
Q
ﬁ C | m— 1 l! %) 1]&
! g 7
s %
k - H - T %
: [ =i ~ i | :
' tJ X ! 't
il ol i
i ‘ i : A\ EBOS0%EFRE
72 \EBONZEAR FLEXWAVE WP>U—X 58



Flat type D

EXfHEEE  Attachment fixture requirement

B B fHHEE Attachment fixture requirement

| WPC-0J-0-CD | | WPU-OJ-0-CD |
e
3
%g —sn B TEaD
; S
=1 =,
9 e PaaAN —| |— g@
E # Shaft 54
E & _I Ll S8 |
s —
sl § —
- 4%’
% |
BfHEE [mm] B [mm]
TAZ | 35 42 50 63 80 AR | a5 42 50 63 80
Size Size
a 0.015 | 0.015 | 0.018 | 0.018 | 0.023 a 0.020 | 0.020 | 0.020 | 0.025 | 0.025
b 0.010 | 0.012 | 0014 | 0.016 | 0.020 b 0.012 | 0012 | 0014 | 0.016 | 0.016
c 0.013 | 0.013 | 0.015 | 0.018 | 0.020 c 0.016 | 0.020 | 0.024 | 0.024 | 0.024
d 0.015 | 0.015 | 0.018 | 0.018 | 0.023
e 0.015 | 0.015 | 0.018 | 0.018 | 0.023
f 0.012 | 0.012 | 0014 | 0.016 | 0.016
g 0.016 | 0.020 | 0.024 | 0.024 | 0.024
WPU-[]-(]-CDH | [ wWPS-O0-00-SD |
(1] = [
:
yx _ nEa
4|E ) Fy -2
% TEND % @ 7 o=
A Al
L] [A I
2 Lt © - :@év veh
W i P ]
o & ] &4
;4 9 )4 -4
Y | N -l E)
7 185
BAHEE [mm] BAHEE [mm]
PAZ | 35 42 50 63 80 TAZX ) 35 42 50 63 80
Size Size
a 0.020 | 0.020 | 0.020 | 0.025 | 0.025 a 0.020 | 0.020 | 0.020 | 0.025 | 0.025
b 0012 | 0012 | 0014 | 0.016 | 0.016 b 0.020 | 0.020 | 0.020 | 0.025 | 0.025
c 0.016 | 0.020 | 0.024 | 0.024 | 0.024 c 0.020 | 0.020 | 0.020 | 0.025 | 0.025
d 0.012 | 0.012 | 0.014 | 0.016 | 0.016
e 0.016 | 0.020 | 0.024 | 0.024 | 0.024

59




R
917D

Flat type D

=ZENILY  Transmitting Torque

22 (g
S & R
g8 i
Sz Al
HRIURERE  RLRORER P TFROBUTY, -
Bolting Please refer to the table below for the bolt tightening torque.
RV MR ML D REEAl
Tightening torque for bolts 2 %
FILFFA X [Bolt size M3 | M4 | M5 | M6 | M8 | Mi0 5
#B4t bJLo [INm] [Tightening torque| 1.9 4.3 8.7 15 36 71 g
HELERLLS - RERXS 129 Bl E
Recommended bolt : Strength rating above 12.9
IEEPMNILY (U0—ZB 2=y 547) a5 ﬁﬁf
Bolt specifications and Transmitting torque (Closed type, Unit) %é% ;;;r
HAh7 o v VB (WPU-O-O-CD) Output flange attachment §§ S T
JAR Size 35 42 50 63 80 £= ¥4
AL YA X Bolt size M3 M5 M6 M8 M8 s Tz
RIL M AE Bolt count 10 8 8 8 10 3
Euff PCD [mm] |Bolt PCD 25 27 34 42 57 e
¥+ b JL4 [Nm]|Tightening torque 1.9 8.7 15 36 36 geg E%
{&Z r LS [Nm] [Transmitting torque 58 141 252 566 960 %fgé 'J?}%
378 =%
A VEFILFVEST (WPU-O-O-CD) Internal gear attachment S ;ﬁ
g i
T4 X Size 35 42 50 63 80 =
AL b YA X |Boltsize M3 M3 M3 M3 M4 -
RIL b AR Bolt count 6 10 12 18 18 -
Ef$ PCD_[mm] |Bolt PCD 49 56 64 79 104 iF 0
i+ FJLH [Nm]|Tightening torque 1.9 1.9 1.9 1.9 4.3 83 i
f=Z hJLS [Nm] |Transmitting torque 68 130 178 330 757 g3 B
Hh7o v I (WPU-C-C-CDH) Output flange attachment 3
T4 X Size 5 42 50 63 80
AL A X Bolt size M3 M3 M4 M5 M6
AL b AR Bolt count 8 10 8 8 8 g',' =
BRff PCD [mm] |Bolt PCD 42 50 60 73 96 E ¥
#4+ b JLo [Nm] |Tightening torque 1.9 1.9 4.3 8.7 15 g2 L
fm&Z L4 [Nm] [Transmitting torque 78 116 194 382 713 % 7
3
A V5 FILFVYERAS (WPU-O-CJ-CDH) Internal gear attachment
PP Size g5 42 50 63 80
AL YA X Bolt size M3 M3 M3 M4 M5 82
RV b AR Bolt count 6 8 8 10 10 %% %
Bff PCD_[mm] |Bolt PCD 64 74 84 102 132 £s &
#4+ b JLo [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7 %%
{mZ kL% [Nm] |Transmitting torque 89 137 156 412 864 2

A2 B ILFXYEM
{Intema\ gear attachment

Q %

4V BF ¥V E s &

Internal gear attachment g 7|—

BH 75 Ot 5 %
Output flange attachment 3 / >
BN 7 5t 5

Output flange attachment

FLEXWAVE WP>1—X 60



Flat type D
{=ZENJLY  Transmitting Torque

(EENLY (PO—ZB aVvERY R 94F)

Bolt specifications and Transmitting torque (Closed type, Component)

7Ly AFYEUT  Flex gear attachment

P4 X Size 35 42 50 63 80
RIL A X Bolt size M3 M4 M4 M5 M6
NIV M AEK Bolt count 8 8 8 8 10
Bt PCD [mm] |Bolt PCD 17 19.5 24 30 41
¥+ ~JL4o [Nm]|Tightening torque 1.9 4.3 4.3 8.7 15
{mZ FJLS  [Nm] |Transmitting torque 32 63 78 157 380
AV FILEFVEST  Internal gear attachment

PP Size 35 42 50 63 80
AL A X Bolt size M3 M3 M3 M3 M4
RIL b AEK Bolt count 6 8 12 12 12
Bt PCD  [mml] |Bolt PCD 44 54 62 75 100
#&f+ ~JL4o [Nm]|Tightening torque 1.9 1.9 1.9 1.9 4.3
{=Z rJLY [Nm] |[Transmitting torque 61 100 172 209 485

{22 FIL 2V Eft \
Internal gear attachment *i

— N
Ve i

[ )

!
!

TL v RRvEf —

Flex gear attachment

I

EZEPNILD F—TFE)

Bolt specifications and Transmitting torque (Open type)

T Ly AFYEUT  Flex gear attachment

PEPS Size 5 42 50 63 80

AILEHAX Bolt size M3 M3 M3 M4 M5

ARIL bAEL Bolt count 8 12 12 12 12

Bt PCD [mml] |Bolt PCD 64 74 84 102 132
#4 bJLo [Nm] |Tightening torque 1.9 1.9 1.9 43 8.7

=& LS [Nm] [Transmitting torque 119 206 234 495 1037
AV FILEYEST  Internal gear attachment

T4 X Size 5 42 50 63 80

RILEHA X Bolt size M3 M3 M3 M4 M5

RIL S AREL Bolt count 8 12 12 12 12

Bt PCD [mm] |Bolt PCD 43 52 61.4 76 99

#4+ F Lo [Nm]|Tightening torque 1.9 1.9 1.9 4.3 8.7

{=2E bJLY [Nm] |Transmitting torque 80 145 171 369 778

JL v & 2 EVEf

. . Flex gear attachment N
2Ly v RAEYENM ] 4 5L v B

Flex gear attachment >\ f 42 ZFIILFVE qp
° _g Internal gear attachment o Internal gear attachment
[

AN

—d

61



R
917D

Flat type D

S = . . : .
SERERIR Installation and assembly instructions g3t
28 T
A 77+ 7 8h D 3 HF (wee-0-0-c0) -
Shaft installation instruction
A& - HDB(S BRI DOV TIIRME - TF v IVREZZ (TR OBELLTTEL, N
(TRI(FSZEH) o —?E
A LICIZBEREREBDODASAMIENMERLES A LD A RICEID VLD BEELTFEL, -
Please design the support structure for input shaft and output shaft so that both radial and axial loads are :j%
supported. (Diagram below shows an example) g
Inside thrust load has effect on the cam. Secure cam from the possible axial movement.
Hi A —
Output shaft AF i f%f ﬁ%
Input shaft S0 % BTES
- O =R
- I 7 =~
- L \_rnfﬂn:ﬁ g B
S g @ EZFEA
L éig %%%é
1 = HLs 2370
- Cam S & &f
2 2 =
S 1
=
3z ® |
33 18
52 K
5 &
3 =
3 bk
: 5
g
o8 B
gz 3
S &

ele(] SolsueIoRIBYD)

FLEXWAVE WP>1—X 62



)

Flat type D
BrMEST—4 Characteristics Data

AEGERE

Transmission Angular Accuracy

1.0
AELERELT
ERFM CAN#ZEEZESELEANOE R/ LD £ 05 Tﬁf§4§§*§f§y
HIN SR f & ER OHI N EEE A 3= 3 s |
. . ok — 0.0 Il ML‘,IHH“ 1”H‘lmnlm.‘nl‘. (T Py ey e LA
What is Transmission Angular Accuracy? & ¢ AN ‘ UiLkRi! ””l” |”” ” I”””W’HHW"‘
It is the difference between the measured output %’i ug
rotation angle and the theoretical angle, while % -0.5 _/
input shaft is rotated with no load. =
10, 90 180 270 360
HhEEER A E ()
Output shaft rotation angle (deg)
[arc min]
o P4 X
B Size
Ratio ™35 | 42 | 50 | 63 | 80
50 2.0 2.0 1.5 1.0 1.0
80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0
HRDEFSEETT,
Table values are reference values.
EXFJA0X
Hysteresis Loss
E2FULRORENE REh AR
ADEEEE L THEARIC ML ED TGS r
DEAMLIREORINAEDZE EXTULZAR
. . Hysteresis Loss
What is Hysteresis Loss?
When torque load is applied at the output shaft
in alternate direction repeatedly with input shaft 7 > KLY
fixed, there is residual twisting angle when / Torque
torque is back to zero. /
In this context, hysteresis loss is the difference
in the forward and backward twisting angle.
[arc min]
. P4 X
BOE L Size

Ratio ™55 T 42 | 50 | 63 | 80

50 2.0 2.0 2.0 2.0 2.0

80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0

63



R
917D

Flat type D

L& LB
8 & Bk R
56 fE
icom
e - 2 X
BRANVITUVE -
Maximum Backlash [arc sec]
: - s s HAL X L
1P NAVM L%t b B Size o
N o — o s Rati 3 2
ADEDRT 4V 94 T DHEDHDEIDHS Aol 35 42 50 63 80 s 2z
(BEDMWEHEWNERD/ NI ZyE 0 Db Uy K54 50 27 27 18 16 16 2
Pl Sy S Sy : 5
TTIENYIIyv(E 0 ERUET) 80 17 17 11 10 10 &
What is Maximum Backlash? 100 13 13 9 8 8
In this context, maximum backlash is the output 120 11 7 2 7
backlash for spline type input shaft. (Backlash is -
zero for rigid type input, because gear engagement g B
backlash is zero.) o8B0 Ay fn
£52 2Er
555 HH
EEREY
Bl (vo—XB 2=y b 94 7F) K1~ hLO A0 ~ T, DIERER g =
. . Spring coefficient at 0 ~ T, torque 3
Stiffness (Closed type, Unit) Ko R ILO BT, ~ T, DIE e — \E
Spring coefficient at T ~ T, torque goe /E‘jj
. 1y Q=57
R & (& K3 MG 1T, ~ Dl 222 Ala
L . Spring coefficient at T, ~ torque i%g D
AHBIZEE L THEDAIC ML EMNT B EDIE S &8 &f
=3 N _ -] =
REHENRCNA N —. 5 1
What is Stiffness? K, : =
In this context, stiffness is the output shaft twisting © :
angle and the spring coefficient, while torque load & g O, e i 3z B |
is applied to the output shaft with input side fixed. 5 ) : €8
= K, i i FI .|
- i i L E
0 : 1
T oamiy
Load torque
B |
oy i, . Y4 X 3 =
‘/EEEJZIS B ifi Size 2 )IL
Ratio item unit 35 49 50 63 80 g 5
- T, Nm 2 3.9 7 14 29 5
- Tz Nm 6.9 12 25 48 108
K, x 10*Nm/rad 0.39 0.66 11 2.2 4.6 —
23
K, x 10°Nm/rad 0.47 0.75 14 26 5.1 ¢5 g
50 Ky x 10°Nm/rad 0.52 0.82 1.4 2.7 5.6 S
0, arcmin 17 2.0 2.2 2.2 2.2 g2
6, arcmin 5.0 55 6.3 6.4 7.2 3
K, x 10°Nm/rad 0.44 0.86 1.6 2.9 6.2
30 K, x 10°Nm/rad 0.60 1.0 1.9 3.2 6.5 g
100 Ks x 10*Nm/rad 0.72 1.0 1.9 3.1 6.5 !
120 6, arcmin 16 16 15 17 16 g
6, arcmin 4.0 4.1 4.6 5.2 57 g
MERDEFFHEETT,

Average value shown in the table

FLEXWAVE WP>1—X 64



)

Flat type D
BrMEST—4 Characteristics Data

——

HE ML (OO—2B 2=y b547) [oNm]
Starting Torque (Closed type, Unit) SR ﬁséez
Ratio
35 42 50 63 80
o) L

tijjl\) \7(‘:__(1 . _ 50 7.0 11 14 17 26
DD MILY 100 6.4 9.4 11 14 20
(mas. AEEE 25°C) 120 - 8.1 9.3 14 20
What is Starting Torque? M1 ERASKICLVENRLUETOT, BBETT,
Input torque needed for input side to start 2 ATMAA A Iy — PR —IRT Y v T EDREREHT
rotating (no load, ambient temperature : 25°C) CLBEBEEINTVLEEA,

*1 For reference only. Torque value may vary depending
on the condition.

*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

B LR LY i
Output Starting Torque(Closed type, Unit) /Ratio oz
85 42 50 63 80
EERHr LI LI 50 2 | 36 | 44 | 58 | 13
. _ N 80 1.6 3.9 7.2 13 26
Hijﬂﬁ'm SEERS OB EIC MDA REE 100 | 17 | 57 | 86 | 9.4 | 23
BEHBDMILY 120 - 4.2 8.1 10 30

\AH. AERE 25° \
(REF. AERE :25°C) 1 AR LU ENRL U ET 0T, BEETT,

What is Output Starting TOFC]UG? W2 ANBIAA IS —IILDR—ILART Y ¥ S EEniEHT
Output torque needed for output side to start ICEBEBISINTVEIEA,
rotating (no load, ambient temperature : 25°C) *1 For reference only. Torque value may vary depending

on the condition.
*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

[cNm]
- N
EA N YA %
—_— N, — N °> ‘/}ﬁgtt EE_% Size
7/—\117 MLD Hatio 35 | 42 | 50 | 63 | 80
— ZH — °
(V0—ZXE, 2=vh547) 500/min | 3.4 | 7.5 | 92 | 17 | 35
No-load Running Torque 1000 i 4.3 8.2 11 18 37
(Closed type, Unit) 50 r/m?n : :
2000r/min 5.0 8.5 13 18 39
MEFSVIVIMLYEIE 3500r/min 5.4 11 14 22 38
EEECEESEEDICKREL 500r/min 3.2 7.6 10 20 35
o [t w0 a7 e o]
N - [} | . .
CPfE. AELRE :25°C) 3500r/min | 5.2 11 14 24 38
. . i .
What is No-load Running Torque? :
. 500r/min 3.2 7.1 11 21 36
Input torque needed to keep it _
running with no load (average 100 1000r/min | 4.0 8.2 13 23 39
value, ambient temperature : 25°C) 2000r/min 4.7 8.4 14 24 39
3500r/min 5.1 9.7 14 25 38
500r/min - 6.7 9.8 23 40
120 1000r/min - 8.1 12 24 41
2000r/min - 8.4 13 26 41
3500r/min - 8.4 13 26 39

A FERAFFICLVENELY FTNT, 2EETT,

M2 ATMAA AN —ILPR—IUART ) v TEORERIIC &L 2HEEE
INTUWFELEA

*1 For reference only. Torque value may vary depending on the condition.

*2 Charts does not show effects due to rotation resistance of
bearings and oil seals on the input side.

65



R
917D

Flat type D

3 L
== $r
58 i
Sz #l
e 3% =
IR (YO0—RB 1=y + 54 T) =
Efficiency (Closed type, Unit)
B (%] BENLY | FRERNLY .Pircenkt)ille Load (%)t is equal to load torque divided by c ;E B
. allowable average torque. g
= . O .
Jﬁ@lﬂl@: - 25%C -Ambient temperature : 25°C el =
o e N *1 Th i h lue of th .
H1 H 5T EER T — & DEETT, acteusaeI (rjr::g;irrr;nreeﬁtresent the average value of the g
ST B o, i — . )
H2 ADA AN —WOR—AART IV TEDEER Charts does not show effects due to rotation
EMICELZEEFIESINTWEEA, resistance of bearings and oil seals on the input side.
SRS EE|
ig5 EH
S3S T am
237 x13
e i
== g2y
o - =
g ~
g
WPU-35-50 WPU-35-80 Be¢3 ”E,‘J &
255
5= D
100 100 STE
e 500 1/min e 500 r/min R
90 | e 1000 r/min 90 [ e 1000 r/min El a1
e 2000 r/miin e 2000 r/min %
> 80 [ e 3500 r/min > 80 e 3500 r/min
C C |
270 g 3z Wy
T 60 — S 60 ¢
— — 33 18
& 50 2 50 52 &
B o4 B o4 £
f 5 7z
30 30
20 / 20 |
3 iz
10 10 -
0 20 40 60 80 100 0 20 40 60 80 100 ERIMN
Bfr (%] Percentile Load a7 [%] Percentile Load E )71/
-
WPU-35-100
o0 H
O © =
e 500 r/min 35 =
90 [ e 1000 /min <5 1%‘
@ 2000 r/min 2o
. 80 [ == 3500 r/min ca
o 2
3 70 :
©
o 60 //
g 50 //-_ o 4%
y £ i
M 4 8 =
-1‘(3 0 % jl-
30 % &
20 5
iy
10
0 40 60 80 100

&7 [%] Percentile Load

FLEXWAVE WP>1—X 66



67

)

Flat type D
BrMEST—4 Characteristics Data

TR (YO0—RB 1=y h(7)
Efficiency (Closed type, Unit)

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent the average value of the
actual measurement.

BE (%] : BENLY | ERERNLY
BAEEE : 25°C
#1553 ERF—yDFEHETT,

M2 AFEIA ALY —IILPR—=IIART Y v T & DR ER
EHICLDEEIESINTOEETA,

*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

WPU-42-50 WPU-42-80
100 100
e 500 r/min e 500 r/min
90 [ e 1000 r/min 90 [ e 1000 r/min
s 2000 r/min s 2000 r/min
. 80 e 3500 r/min - 80 [ e 3500 r/min
o 70 o 70
= & //
0 60 U 60 /
= 50 = 50
40 # 40
X //’ X
30 / 30 /
20 20 ¢
/7
10 10
0 20 40 60 80 100 0 20 40 60 80 100
B [%] Percentile Load & [%] Percentile Load
WPU-42-100 WPU-42-120
100 100
e 500 r/min e 500 r/min
90 [ e 1000 /min 90 [ = 1000 r/min
s 2000 r/min s 2000 r/min
> 80 [ e 3500 r/min > 80 [ e 3500 r/min
5 70 B 70 —
9o o
= L — = //
60 //’ w60 / —
§ 50 //_— § 50
# 40 //// B 40 /
= y /2 =
30 30
20 20 4
10 10
100 0 20 40 60 80 100

20 40 60 80
&7 [%] Percentile Load

&% [%] Percentile Load



R
917D

Flat type D

23 LB
8 & BRE
58 i
:z #
e N o 7 % I\
IR (YO0—RB 1=y + 54 T) =
Efficiency (Closed type, Unit)
B (%] BENLY | FRERNLY .Pircenkt)ille Load (%)t is equal to load torque divided by c ;E B
. allowable average torque. g 1
N=| . N @
Jﬁ@lﬂl@: - 25%C -Ambient temperature : 25°C el =
o e N *1 Th i h lue of th .
%1 FSTEERT — S DTIETT . acteusaeI (rjr:zg;irrnes;nreeﬁtresent the average value of the 5
ST o o, _ . )
H2 ADA AN —WOR—AART IV TEDEER Charts does not show effects due to rotation
EMICELZEEFIESINTWEEA, resistance of bearings and oil seals on the input side.
SRS EE|
ig5 EH
S3S T am
23° x1¥
o - =
g ~
g
WPU-50-50 WPU-50-80 Be¢3 %’T‘J s
255
s D
100 100 g\g il
e 500 1/min e 500 r/min R
90 | e 1000 r/min 90 [ e 1000 r/min El a1
e 2000 r/miin e 2000 r/min =
_ 80 [ === 3500 r/min - 80 [ === 3500 r/min -
O o
5 70 — & 70 3>
2 _ o _——— i7"
T 60 = T 60 — s
5 142222559" — 23 18
R 50 & 50 -2 E
B o4 B o4 £
& &
30 7/ 30
20 20 |
=
10 10 7 =
0 20 40 60 80 100 0 20 40 60 80 100 ERIMN
Bfr (%] Percentile Load a7 [%] Percentile Load E )71/
)
WPU-50-100 WPU-50-120
100 100 23 iE
O © =
e 500 r/min e 500 r/min 35 =
90 | == 1000 r/min 90 [ e 1000 r/min 5 I%—
s 2000 1/min s 2000 r/min Zo &
_ 80 { e 3500 r/min . 80 [ === 3500 r/min =3
o o 2
-5 70 5 70 // %
2 k) /
0 60 o 60 ////
é 50 é 50 /// :'z'_) g
H 4 LR 4 8 =
- & E 7
30 30 % 5
20 —# 20 g
iy
10 10
0 20 40 60 80 100 0 20 40 60 80 100

&7 [%] Percentile Load

&

[%] Percentile Load

FLEXWAVE WP>1—X 68



69

i

Flat type D
BrMEST—4 Characteristics Data

TR (YO0—RB 1=y h(7)
Efficiency (Closed type, Unit)

B (%] BRENLY | EFEREKNLY -Percentile Load (%) is equal to load torque divided by
. . o allowable average torque.
FHERE : 25°C -Ambient temperature : 25°C

. .= |l = *1 These diagrams represent the average value of the
% |5 — 7t (E ¢ R
1 TST7EEUNT—IDFHETT actual measurement.

H2 ADRAANY =R —IAT ) T S DER *2 Charts does not show effects due to rotation

EHMICELZEEFTESINTWEEA, resistance of bearings and oil seals on the input side.
WPU-63-50 WPU-63-80
100 100
500 r/min e 500 r/min
90 [ e 1000 r/min 90 [ e 1000 r/min
e 2000 r/min e 2000 r/min
. 80 [ e==== 3500 r/min - 80 e 3500 r/min
2 2
2 70 o 70
© o
o 60 U 60
= 50 = 50
M 40 // # 40
EX EX

30 /// \ 30
20 / 20

10 10
0 20 40 60 80 100 0 20 40 60 80 100
B [%] Percentile Load & [%] Percentile Load
WPU-63-100 WPU-63-120
100 100
e 500 r/min e 500 r/min
90 [ e 1000 /min 90 [ = 1000 r/min
s 2000 r/min s 2000 r/min
> 80 [ e 3500 r/min > 80 [ e 3500 r/min
3 70 G 70 —
& & P
L 60 L 60 //
= 50 = 50
# 40 # 40 //
EN EN
30 / 30
20 20 Y4
10 10
0 20 40 60 80 100 0 20 40 60 80 100
B [%] Percentile Load &% [%] Percentile Load



R
917D

Flat type D

LF L
8 & B
58 i
=z Al
28 =
P My N — o 2@ —
EACInES ¢ IN= =) SR ) =
Efficiency (Closed type, Unit)
B (%] BRENLY | EFREKNLY -Percentile Load (%) is equal to load torque divided by o ;E B
allowable average torque. g I
N=| . o )
Jﬁ@lﬂl@: - 25%C -Ambient temperature : 25°C el =
. .= = *1Th iagrams repr nt the aver val f th -
1 S SIRBT S OTHETS. These diagrams represent the average value of he
H2 ANRA AN —NXRR—NAT YV TEDERR o Charts does not show effects due to rotation
EMICELZEEFIESINTWEEA, resistance of bearings and oil seals on the input side.
SRS EE|
=0 = E E
588 WA
S3S T am
~—a £
5= B L
5 =
o - %
g ~
S
WPU-80-50 WPU-80-80 Be¢3 %’E,’J &
255
S+ )]
100 100 g\g il
e 500 1/min e 500 r/min R
90 [ e 1000 r/min 90 [ e 1000 r/min 8 )
e 2000 r/miin e 2000 r/miin =
_ 80 [ === 3500 r/min - 80 [ === 3500 r/min -
2 2
g7 g 3z m
0 60 U 60 5
— — 33 18
= 50 = 50 i3 K
¥ 4 ¥ 4 A//' :
= 0 = 0 / @
30 30 /
20 20 |
3 iz
10 10 -
0 20 40 60 80 100 0 20 40 60 80 100 ERIMN
&% [%] Percentile Load & [%] Percentile Load H )7[/
-
3
&
WPU-80-100 WPU-80-120
100 100 42 i
jo =
e 500 r/min e 500 r/min 35 =
90 | == 1000 r/min 90 [ e 1000 r/min 5 I%—
s 2000 1/min s 2000 r/min Zo &
_ 80 { e 3500 r/min . 80 [ === 3500 r/min =3
2 2 5
@ 70 @ 70 3
© ©
o 60 o 60
S 50 S 50 / ;:-’ qu
o4 o4 8 =
- & E 7
30 30 g2 4
/ 3
20 20 g
iy
10 10
0 20 40 60 80 100 0 20 40 60 80 100

&7 [%] Percentile Load

&% [%] Percentile Load

FLEXWAVE WP>1—X 70



N

—All for dreams

CHEAORIE., MKFAEELBHRAD L,

BAREEILRKRSH ELCHEN T

WA AR T617-0833 FAAFRMmMmMESH WA X5 T617-0833 MEAFRMRHEEME]
TEL. 075-958-3887 FAX.075-958-1296 TEL.075-958-3670 FAX.075-958-3671
EERXE TI41-0032 ERHBKIRAI-20-13BABERRCL  WEHBEF T812-0016 EEHHESRESRE-1-207y /0— BHC LI
TEL.03-3494-0721 FAX.03-3494-0720 TEL. 092-411-4750 FAX.092-411-4785
WOUEEEEF T330-0854 HERSETABRMANI-G-4I/ELYIKEENNE WMAHY—ER T617-0833 FAAFRMmMMESH
TEL.048-645-1365 FAX.048-645-1361 Y~ TEL 075-958-3629 FAX.075-958-3695
WAHEXE T450-0003 ZAEMEHRARE-2-19ZRYIRSA FRIITIH WERY—ER T330-0854 HEEELEEAERMARI-0- 17ty bREELIE
TEL.052-589-1338 FAX. 052-589-2838 Y~ TEL 048-645-1365 FAX 048-645-1361
BEREZR 79200027 &RAERFEHE2-16-7 B S FAUAAFIITIVL AR, KA,
TEL. 076-233-2626 FAX.076-233-2627 A—Z YT TR REBE BB AR

NIDEC-SHIMPO CORPORATION
1 Terada Kotari, Nagaokakyo-city, Kyoto, 617-0833 Japan TEL.+81-75-958-3606 FAX.+81-75-958-1296

OIERME TREME/ TL A/ BF MR/ IS - RERES/ SR

ISEr =N
Offiii&. IOV TOBMEHLERRFYNRZIE - BEFETHEVOLET. [ BAZEY VIR
cojp

@ZDHEAY [F2019F 12ARENHNETT , HRADHR - EHREEFREDO-HITERETIELNHYET, . .
http://www.nidec—shimpo.
Copyright NIDEC-SHIMPO Corporation. All Rights Resere d.

IT-1912010 40960J





